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5.

6.

Consider the following two statements :

IR

Assertion (A) i k. ] : )
Dregraphm precipitation results when moving Tj’]sturﬂ'lﬂdEﬂ air stri a topographic barrier an
1s forced upwards. O 1

Reason (R) : - r! b

Most of the precipitation falls on thé ﬁmdwei‘d_ﬁe of the barrier and the Ieewerd side is likely to be
dry.

Choose the correct answer : ‘ﬁ" 1
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).|
(2) (A)is true, but (R) is false.

(3) Both (A) and (R) are true, but (R) is not-the correct explanation of {A

(4) (A)is false, but (R) is true.

Consider the following statements with reference to the mineral ¢ mane
A. Odisha is the state with the highest reserves in India,

B. Itis ex}f:;eeeentxal input in steel-making in alloy form.

C. Pyroluei‘te is the ore of manganese.

D. The Gondite and Kodurite deposits are rich in manganese ore. .
Which of the above statements is/are correct ? (7] 51

(1) A and B only ) A only ;

e’ 1in India -

(3 A,B,Cand D ) A,BandConly| B

Consider the following statements related to th(lj;kumhei Trans Harbo ink (MTHL) :

A. Itis a Road Bridge connecting Mumbai city wath Navi Mumbai. .

B. It begins in Parel, South Mumbai and crosses Thane Creek and térfiinates at Chirle Village,
near Nhava Sheva. .

Which of the above statements is/are correct ?

(1) Bonly (2) A only

(3) Neither A nor B % 3 (4) Both Aand B iy

\ |

Consider the following statements : i ':' 2

A. Aswaraopeta Assembly constituency area extends to the east -m Mmost part/boundary of
Telangana State. ]

B. Adilabad Assembly constituency area extends to the nerthernmeet p'___.;_"" dary of Telangana
State. @ !

Which of the above statements is/are correct ? () ,1,' } ]

(1) Bonly - ) A only Iy

(3) Neither A nor B - @) Both A and B r i

The terms ‘Aus’, ‘Aman’, and ‘Boro’ are re" §twhich crop grown in a }TEE.I‘ ?

‘{1} Three crops of paddy grown in West Bengel (2) Three crops of wheat g "* in Punjab
e crops of maize grown in Rajasthan (4) Three crops of cotton g "

Consider the following statements : |
A. Koulasnala and Boggulavagu irrigation projects are located in the Godavari bag
B. Kotepally Vagu and Asif Nahar irrigation projects are located in the Kﬂﬁhﬂﬂ. hag;n
Which of the above statements is/are correct ?

(1) B only (2) A only

(3) Neither A nor B " [(4) BothAandB|

TES.T 224 R EE
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806 5D HOHEIosoR

S8 e (A) :

BHS EraS O (5350 FODE I/ HertyB wsHr) w8 DE TWBAIHIG H65B0H
QS0 DOV OA.

5080 (R): < 53

i;;. gizﬁ; ﬁ:;ii}‘j;; t;;gh ?jﬁﬁ 2 EANWENS (windward) 35 50N0B, MO ISE (leeward) F5y HS téb
DO RATEVO DOTREDY

[(1) (&) OS5 (R) Bod TEOSOS R 656 (A)50 nilﬂcf:- a)o) OF9,

(2) (A) Q20, S (R) ).
(3) (A) DB (R) BORAY QB0 SN (R) @& (A% 00 .‘{)J,}lé-m 5°C.

(4) (A) Sy, 5% (R) &0 | |
2SS THOS' SOt %ﬁam@ VOR0HOD 1808 & §aterDH HOBETOTHIS :
23S B30 2,4 VOIHS ArOBAR Jevsen fie> TR0,

A.
B, EFDH0 Eros 380 -SATIS’ 56 Snpsaad as HeS.
C. DERS ©FE LroHAD Ty, Gretne)
D. FomEsS OOk EHIE AT SrosdH BAB06S: DO Gy o,
) gﬂgg}ﬁt}éﬁ DE/DD B ?
(1) A DO B Syv(ed (2) A ST
3) A, B, C 8% D (4) A, B 50050 C Sr(ehad

SO €3S BB 908 (MTHL) 5o 502050 8§08 a7 5B HOHEI0THISM :
A 20 J00B SHoW), S INOBE' EOD 8w 083

B. 20 3§ 00gdN, HBS 3G (305D 00w IR (85 & o3 HOAW T DT JHOSA DO
P00 SQ S0HVod. |

D T IOS” DA/ DB ? %
DiBeneEs @) ASriesd

(3) A SO B Bodr 5% TS o
208 5D HBHBOI0EM :

A OFTITY OO @fmi} QOSFBE ¢ L;h“-::réo BOME T8 S DHB 23H0/OBTEY SHBF0 DB

&od.
B. es8errd @0l Qoiras 3¢ (D080 800mer T°arS G&8 D0 ario/N0are SO DR80D)

SO00.

2 TIDLOS DO/ DB ? Q
(1) B Sr(&D _ (2) ASHSD
(3) A HBOHN B B 5% (4) ASHOCH B 3OS

'es%y ‘@000’ B0 ‘BT O Dorew, 5 ﬂaaﬁégﬁoé‘ HAT D HoLE H0OBODID ?

(1) D210 ZOTS & HOT N0 D0 DOV | 2) E0ersS S HOB Sred AN Hoten

3). T2 S S HoB S BTy EV) 0N {4} DSFT(AST HOT S H Hotren

BOB 5250 HOBBEIOTONM : _
A TerD e SH805 STPeH AE3 RGO (BN 0 SO BN S &0~ Q.

B E4356) v SHB050 B STB e FOGO RN ) B BIS & &) on.
D TIDLOS DO/DD PO ?
(1) B &Sebed

(3) A 8050 B B0 5%

(2) A S
(4) A B B Bodwr
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10.

11.

12.

13.

TES.T 224

L : A% 3 .
stricts in ascending order in tey, fthgif;"'ﬁf?male Literacy Rate (%) based

Arrange the following distri
on 2011 Census : lamba G Ny

Nagarkurnool. B. Medak G Jogulamba Gaqy, D. Ne ayanpet  E. Wanaparthy
Choose th to N
@)D, A, G 21l rﬁc]}ABm ®) c,apgB | @ CDEBA

According to Koppen’s climatic g}&ﬂglﬁﬁﬂﬂﬂﬂ; a larger area of the Tele ,-:’_.:.:: na State falls under :

(1) Humid Sub- tmpmal climate (CWa)

(2) Tropic Aw)

(3) Hot semi-arid climate (BShw) | .

(4) Monsoon climate (Am)

Match the following National parks and gcur States :
National Park Sm

A. Tadoba National Park I. Kglllﬂtaka

B. Madhav National Park I. §u Pradesh

C. Dudhwa National Park III. Maharashtra

D. Bandipur National Park  IV. Madhya Pradesh

Choose the correct answer : _
(1) AT BIVICL, D-II () ALV BII; I Db

(3) A-III; B-IV; C-II; D-I | (4) A-I: B-IV; C-II: D&

Which of the following statements about Continental Shelf are correct ?

A. Continental Shelves are continental marginal areas submerged underi@€eanic water.

B. Continental Shelves are very wide and extensive along the westerfii coast of South America
where high mountains are very close and parallel to the coast. .

C. Extensive Continental Shelves are fﬂ@d around Newfoundland.

D. Many marginal seas are located on the Continental Shelves of North ?; ntic.
Choose the correct answer : ﬁ .
(1) A, B and C only i: (2) A and B only 3
(3) A,B,CandD B (4) A,CandDonly| &=
=+ '
Which of the following fluvial landforms %ﬁe associated with rejuvenated rrd pography ?

A. Incised meander - B. Entrenched meander

C. Knickpoint D. Natural levees
Choose the correct answer :
(1) B, C and D only : (20 A,B,CandD

(3) A, B and C only (4) A, C and D only

Which of the following climate is also known as ‘Sclerophyll’ ecosystem or biome 2
(1) Tundra climate (2) Mediterranean climate

(3) Monsoon climate (4) Equatorial climate

Match the following Articles of the Cnnﬂtgﬂ.ntmn of India with their Provision :

Article Provision ()
A. Articlel4 1. Abolition of untﬂud;l_fl_ability
B. Article16 II. Equality of opportinity in Public Employment
C. Article 17 III. Equality before thei%w
D. Article 18 IV. Abolition of titles

hoose the correct answer :
¢ (2) A-I, B-II; C-III; D-IV

-IIT; B-IT; C-I; D-IV
() e (4) A-: B-IIL C-II; D-IV

(3) A-IT; B-I; C-IV; D-III

i
R (4) It



8923917
Rectangle

8923917
Rectangle

8923917
Rectangle

8923917
Rectangle

8923917
Rectangle

8923917
Rectangle

8923917
Rectangle


9.

10.

11.

13.
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2011 2708 B2 By 0> s 80T, S08 Beres &) 5 T (%) (D560 88576 (50065 @960 )03 :

A. 0887 S B, 3§  C. zﬁ‘me.mmmé D. 00N E. S350
QBN B3R DOTHTHID :

(1) D,A,C,E,B (2) C,D,A BE (3) C,ADE,B (4) C,D,E,B, A

SIS By IFVA 36568 (9560, Berome OO @568 2rerio B 8068 SN0 :
(1) B 5rAS & o) cNOGO %&,} Ve (CWa) ()

(2) G OGS DO T2 D (Aw) )
(3) ¢a) (Hot) - 'E:&ua,z, (semi-arid) 3R D& BShw) [ [
@) VDD TS 0 Qe (Am) ¢
SO0 2me308 e $HBA% ¢ T AT 2365 SIS

A, SE 23S Doy, . oy

B. SrdSradobardy I ads 95§
C. TS aRaAH D&y, 11| N EOR B
D. 200308y IV. s 085

N0 R NPEIV0 JOTNT DD
(1) A-III; B-IV: C-I; D-II (2) A-IV; B-III; C-II; D-I
(3) A-III; B-IV: C-II: D-I (4) HI B-1V: C-II; D-III

DORBY) oo dH (Continental Shelf) 02050 §-‘::~-f:: FIDEOS DD DB IR ?

A DOBSIR) @O DIV HE3S® S0P &) Gc:ﬁéfér:ﬁgg} raroch {J'J.J*Qéeﬁj |aroETe. |

B. 0S8y ®0hed S8 oS H23 Do %ﬂﬂﬁ'ﬁ TP 'DREN YT DO DO GOLTOw,
RIS IBS DY s&7en ST°VE e NG DO cﬁ}‘ﬂécﬁc}m G OLTOW.

C. Srsdof 508 VY DRYB TS POCHEBBD) @a@m EDDTOW.

D. &FTE S0 OSWIETEN &GS eETroe3E By, PDOBBED) @otHOS &) ow.

RO AATTT0 DOTHE D : -

(1) A, B HBaw C Srieded (2) A DBAD B o3re|ehad

(3) A, B, C 805 D @) A, C 0005 D o5

808 FES" D FAMDNS (N He5) 2530 §ETFRren HIDHE0HDAS DerE)BS 502050 ﬁé}ﬁ G 0D ?
A A0 DT DOITroEd B. n [B058 Dosrodcsd '
C. S JFronods D. NS BAD

DD NeITETE0 DOTHE DA :

(1) B, C 85w D So7edadd (2) A, B,C0a» D

(3) A, B OO C S (4) 1A, C 605D D Sr(5ad

808 FSAVHOS’ BRI ‘. TS HTS58E 55390 TBLP TP @) ET°C° DV 2
(1) DOl 955 & (2542 S0 ISR DS
3) 20HVDS ISA DB (4l Jesrsocss B 889 2
2365 TPeS0K0SD) 18065 DY) (DEEO0 e3 DIBPOS 2SHE108 :

(225D D3 OED _

AT [(HEBe 14 I. 0TRSO0 AT

B. (H&560 16 1. (D255 &GOS DTS e95777en

C. (2808 17 . wLo Cﬁgi}uéﬁ (DTeTnlo ANV NTS

D. [D86¢e 18 IV. 2e 8
DB TG0 )OTDE A :
(1) A-IIL B-II; C-I; D-IV (2) ALy B-1; C-IIT; D-IV

(3) A-II; B-I; C-IV; D-III (4) A-I; B-III; C-II; D-IV

2%
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14.

15.

16.

17

18.

19.

20.

The Parliament enacted the UBWOEE oy - 54 0 Act 9
first case iefore the Supreme Court under A

(1) State of Kerala Vs. Gulab Slﬂgh 1S

(2) State of Karnataka Vs. Appa Balu Ing&¢

@) WVima Ve State of Haryana

Untouchability (Offences) 5, ozc w0

e ] aStem‘ibE En’iplﬂ}TEEﬂ! 1

(4) Posts & Telegraphs (P & T) Sched
India T & |
Dr. B.R. Ambedkar, on the debate nf"quﬂ'gf__fﬁ 11 the Constituent e
A. it involves the relation between _1'%51_5;3_'_ oo d; Judiciary, B
ut judiciary deciding lay o ultra vires

B. in a federal system, it is abo .
C. It involves the adjustment ﬂf"fgderﬂl arrangement. &l

_Choose the correct answer | A o
" (2) OnlyAandBaret

(1) Only B and C are true. : :
{ (4) Only A and C are &

(3) A, B and C are true: G |
The Constitution (4% Amendment Act), 1955 introduced the concept
concept includes : , | %
A. The Police power to detain persons for public purpose
B. The power to impose taxes on citizens for public welfare _
C. The legal capacity to take private propetty for public purpose Wy

D.  The legal capacity to share public burd¢h) t
Choose the correct answer : ST R i
(1) B, C and D only | Sl (2) AandBonly BB

ective Principles of State

Which of the following pairs are correct in relation to the Articles of the ir
Policy ? | |

A. Article 39 A : Freelegalaid 3
B. 'Article 43 A : Workers participation in the management of indus n"-':.
C. Article48 A : Safeguarding rights of the children |
D. Article51  : Promote mternatmnal peace and security =
Choose the correct answer : Wit B
(1) B, C and D only
(3) A,Band D only

The role of the State Electiﬂn'Cnmnﬁ’_sﬁﬁn rg;’ by
(2) To conduct elections to State Legislature

(1) To conduct elections to Local Bodies i
/(3) To conduct elections to Community ha&ieﬂ nﬁ%nis&tiﬂns (4) To conduct electi&;ﬁi{-b State Cooperatives

Consider the following in relation to tli%—.glﬁﬂiun of the members of the P&rh%.me’ﬂt :
A. Lok Sabha members are elected directl{6n the basis of adult suffrage. )
B. Rajya Sabha members are indirectly elected on a proportional representation basis by the elected

members of the State Legislative Assemblies.
C. A few Rajya Sabha members are nominated by the Prime Minister for special knowledge.

D. Rajya Sabha members are allotted to each state based on the geographical area.,
Which of the above statements are correct ?
(2) A, B and C only

(2) A, Band C only
(4) A, C and D only

1:*‘:&"']' i

(1) A, B and D only
(4) A and B only

(3) A and D only

Which of the following is an essential feature of a Federal Constitution ?
(2) Election Commission

(1) Supremacy of Judiciary
(4) Parliamentary Supremacy

(3) Distribution of Powers
=% E

7] ©
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14. TODOLD ®OLTRSH0 (FO°®) N0, 19556 & SIrHON0E. & 5O 1KS'00 MDO §P SNoHH
SO F0e5e3 T 1808 &3S’ A ?

(1) S8 o°R0 Vs. thersS Joh

(2) TS 7RO Vs, @5 arexy R01E

(3) ADHTA DB Vs, 078 OO _

(4) S0 SJ'® TP (P & T) DATID Soeren/Bier argien, D03 60 D050 Vs. 25°8eb So(& (2250e8 50

15. "o )N Y (DEAR” D Trergon 02565 23008 GBS’ @, D.e36. @023¢5)0 aer 1DAoTrd) :
A, TR-T°HOD T"HO DBS 1 NOOLTHE, (>
B. QrRs dEWosS 308 39 TR théren Te SEN), Senaren S arsohare JGonoriio.
C. QAT DTHEN SDEN2IEN D00 OO

DTN DaAFEFN0 DOTHE DA : &
1) B 5005 C S S D20, &) A 500 B S dzo0.
(3) A, B O C Qda30. (4) A SO0 C Hr(ebadd D20.
16.  T25508 DSSE RO (PN De3SED), 1966 &3°J0° DR EOS'E DO O 27756 (D38 DLWEB0E.
& P SOH G0

A D DB BYars ASORD® AEH0H0T SO ESE0 DHONOE
B. (R2PN0F D0 SYars Head)ed 0T ©HS 80 Krd) SOH BN0O

C. (N RDATBS0 5Yars IDoWVSE SIHe) @) 3SR 9BS G0
D. (& 230 V0T WD O S0

DB DSTERH0 DOTHERDSM :
(1) B, C B30 D S e$sd @) A SHBAD B Sr(ehad
(3) D SRS (4)  C (&>

17.  TaRs0l B3 QoHSTOR S025050D 1808 D8 SPHDESOS” DTS BN I ?
A D30 39A 1 GO ToD SSFAo

o
B. |O58043A : D8N A5 520250ex8m 5050
C. DS0048A : 2700 TR0y HB85H

D. [D%88051 : @0STSOD 708 2SS0 HBBE L
0N RAITTR0 DOTDTRD :
(1) B, C 83w D S5 (2) A, B HOa%w C S(edad
(3) A, B H8akw D Sor(ehadd (4) A, C B0 D Sr|edad
18. (808 T3S DA TR A E HONO r|éh :
(1) 8 D0 AT VB §7°€ (2) O TS D025 A e DS 5789
(3) D2 errded QOO D) S DB $I°ED (4) O D50 Q0TS D) IO Y 536

19. rODOLD DZDVLO D) EE QODOHOL) A @aoa‘ﬁ) HOHedoSod :
A S5 525 DEDED £, THY Mo STIrBHOT L::@S_DW D) SaE .
B. O°25 025 2D T ed)FaRS S N abioB rd (P8RS Q8 erdor STE
DTFS0S’ Do) SchEd. |
C. [HBLE HOZS0 EO)NS §0ed HOA SH§EOD L;’:-c;rﬁ SHO(E3 T7238 25 HZD§ENT DODTED.
D. o2 H25 2D (Hed T°aFAS & 2HOE |r0d0 SO SEFONONDERT .

2 EOS DD HBIN ?

(1) A, B 0005 D 0 (€5e (21 A, B 05N C SHTN

(3) A SHBCW D S (4) A OAW B Sr(eh
20. & (800 TES HITPS TS SHWF OEEI0 IE ?

(1) 0% Ty e8HE5S (2) Q)8 DA

(3) @S0 )22 (4) OO esHEed

% E

TES.T 224 [R] (iz4) 2 ‘


8923917
Rectangle

8923917
Rectangle

8923917
Rectangle

8923917
Rectangle

8923917
Rectangle

8923917
Rectangle

8923917
Rectangle


21.

22,

23.

25.

TES.T 224

clE 368 of the Constitution :

tﬂ
on
Consider the following 1% rﬂlﬂtlt 0 amen d the c“’ﬂﬁtltutlﬂn
en
A. Tt empowers the Pﬂilzeﬂ tork gnﬁ ghe Constitutjon by 2/3 majority.
E. :t Zmpnwers the Par :he oailt ament 10 amend the Fupdamental Rights.
< ;h ﬂ;s 1;01; empower e W‘: of the Constitution except Basic Structure.
e Parliament can b W T

Which of the above statements ar6 COFEgas

(2) Only A and B are true.

(1) Only A, B and C are true. i L e
(3) A, B, C and D are true. ' w:l'.' y A, B and D are true.

B. The voter has the right to know the an
Which of the above statements is/are €ort
(1) Only B is true. 7. L (2) Only A is true.

(3) Neither A nor B is true. = [4) BothA andB are true.

Match the following about Drinking W&ﬁ&i‘é}andarﬁs (BIS 10500 : 2012) with acceptable limits :

Metal Acceptable limit (mg L= ‘EIE

A. Fe I. 50 X *ﬂ'

B. Mn II.  %0:3 i)

C. Cu ITI. 0:05 A ﬁ

). iZn IV. 0-1 ;

Choose the correct answer :

(1) A-II; B-IV; C-III; D-I (2) A-II; B-III; C-I; D-IV
(3) A-IV; B-III; C-I; D-II (4) A-I; B-IV; C-II; D-III

Sort the following steps in the correct order of photochemical smog production :
A. Emission of NO, and VOCs. |

B. Ozone production due to the reaction bhetween NO, and VOCs.
C. Ozone reacts with other pollutants and forms NOo and Og.
D. Peroxy Acyl Nitrate (PAN) is produced ﬁ the reaction between NOg and hydrocarbons.

Choose the correct order : i

(1) A,C,B,D (2) A,D,C,B 8) AD,B,C 4) A,B,C,D

Collapsing of polar vortex contributes to the stabilization of the ozone layer because it :

(1) Disperses ozone-destroying forms of chlorine
(2) Allows ozone depleting chemicals to accumulate
(8) Triggers the release of additional chlorine into the stratosphere

(4) Accelerates ozone depletion reactions

R - (8)
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21. 0°2r5000S R 3685 |H%B£50 H0R0B0D & 1808 DYDY T3 HO82O0B0A :

A0 T2 DS80BEIE FEoendy ORTTR) BYOY.

2/3 QZN$O SRPEOS T7ar30mRY HDSBOBEHTDE ;‘J't‘iame.nﬁo @HSE0 50N,
EIRDS 750200 SBOBEIE FEoENE @55*{:?&)1 5 )0THe.

0727501 oS3 PE Q02000 5% ) QS8 o) VOTOTS bﬁﬂotﬁcﬁ‘f{ﬁ 2B TOIOLNI AT NS,
2 DS D DB ? 2

)
(1) A, B 2000 C &Sm(ebsd Qeso. (2) A SHBaH B Sr{ehad D220,
(3) A, B, C H0a» D 0. (4) A, B HOAN D oS(edad A0
22. & (5080 TN HOHdoS0M :
A, 2L o3°80) AVBIPAO0 2,5 GED 279 (HELIS ) 2776 ¢5 0|0 & KHB0D0A.

B. )30 93 TR S5O Frosioren BenioSR rE0) LG5 25520506,

O Q W »

2 IS DA/ HBBSD ? :
(1) B Sredsd D20, (2) A S7|dad DB0.
IF. (3) A QO B Do D230 5. [4'3“4 A 805 B Do A230.
_" 23. &S |DSr0sw (BIS 10500 - 2012) N8 @mcfﬂﬁ"ﬁg@é @INOF DOVOSHONS (8o0d a7e3d
| 2S00 : |
E K ;‘-: a0 _1. ffmﬁﬂrﬁ;@nﬁ @38 (mg L1,
| B. Mn IL 03
C. Cu T 005
D. Zn IV.. 01
DB OSSO0 JOTHTSM :
(1) A-II; B-IV; C-III; D-I - (2) A-II; B-III; C-I; D-IV
(3) A-IV; B-III; C-I; D-II (4) A-I; B-IV; C-II; D-III

24. 5708 BSOS 2B DB @OTED DTS Lé:nofﬁ" 90804 :
N'U' DG VOC © &TrdSm. '-. ;

B. NO, 58050 VOC © 05§ B3890 &S 8 )ce.
C. &&8S i ST OS 55500 NOy OB 92 e DEIEIE.
D. NO, SHO05D FIESE)S © e 65655.5&: Peroxy Acyl Nitrate (PAN) 53¢,

RO (ST DOTDE AW
(1) A,C,B,D (2) A DCB (3 ADB;C (4) A,B,C,D

5>

25, [E05 GR0G0 D50 4.5 0 DOESE OG0 BROE JOHEOT :
(1) 2,555 450 B S8S Grared DB D0 BI°0M
(2) 6,255 8ot EaradareD & WO
(3) €095 SR8 @B S §BS & Desse TAHEFR) (OB
(4) 2,555 N0t G5 IO DOTHETON

TES.T 224 [R] 94 B
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26.  Which of the following statements are trué about greenhouse gases ?

A. Greenhouse gases absorb long wave rﬂdiﬂtiml‘ from the Earth.
B. The greenhouse effect is responsible fun@ahng of the Earth’s surface and atmosphere.

C. The greenhouse effect causes El Nino e@:t-
D. Few of the direct greenhouse gases un Kyoto Protoco] gre COgy, CHy, SFg and SOg.

The correct answer is ! A
(1) B and C only ) (2) AandB only

(3) A, B and C only (#) A, Cand D only

27. Match the commonly used modern drugs with their plant sources !

Drug Plant Source

A. Penicillin I. Velvet bean

B. L-DoPa II. Yellow cinchona

C. Quinine ITI. Penicillium fungi

D. Taxol IV. Pacific yew

Choose the correct answer :

(1) A-IV; BIIT; C-I; D-II (J' (2 AL BAV: CI DI

(3) A-IL; B-I; C-II; D-IV g, (4) AL BII; C-IIT; D-IV
28. Select the correct set of statements reg the effects of climate change :

(1) Decrease in global temperatures, incre ded sea ice, expansion of tropical forests
(2) Increased sea level, more intense hurricanes, species migration
) Reduced agricultural productivity, decrease in renewable energy sources, increased polar bear
populations
(4) Decrease in ocean’s acidity, reduced COy emission, increased glacier mass

29. Arrange the following BIMSTEC Secretaries General in chronological order :

A. Sumith Nakandala B. Indra Mani Pandey

C. Tenzin Lekphell D. M. Shahidul Islam

Choose the correct order :

(1) C,B,A,D (2) A,D,C,B (3) D,A B,C (4) A,B,C,D

30. Which of the following statements about th%United Nations (UN) are correct ?
A. The United Nations has six principal opgans. |
B. The General Assembly is composed of resentatives from all member states, each of which has
an equal vote, @
C. The Intgmatiﬂna] Criminal Court ( ICOW being an organ of UN, settles disputes between nations.
D. The main funetion of UN Economic and Social Council is facilitating discussion and policy
recommendations for the world’s economic and social issues. -

Choose the correct answer
(1) C and D only (2) A and B onl
y
(3) A, B and C only (4) A,BandDonly|

31. Which of the following is ms

‘(IJ The beginning of the Nun- - :, wnt. (N/
anchshee eement between India and China

(3) Declaration on the establishm

TES.T 224 R | - (10)
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26.

(1) B 250050 C (& 2) A 0050 B S7S
(3) A, B 8o C &‘ﬁ“[_é;ﬁj (4) A, C0owD :)J’Léﬁﬁ
27. VEOROM GOrAOD TAGTe B0 ¢S 20520 0 (sources) €A 25€5:G0T)
DA SIS u{:ﬁm
A DSOS L 305 B
B. L-G IL - D0 HLdyA (Yellow) dogH'a
C. 8535 L OO0 Hoe
D. &Ho IV. 539§ oo
DB DITLTR0 DOTHERXW :
(1) A-IV; B-III; C-I; D-II (2) A-III; B-IV; C-I; D-TI
(3) AL B-I; C-II; D-IV (4) A-I; BIL; C-IIL; D-IV
28. ITVO0R AR [DTTRE HODOHO0D) HOTDS T WL DN D) §od :
1) BS SRS SHB0, DIV SHOTH DEKBO, SRHOBES BhHeD VD S5S0
(2) OB NEO DENBO, 0P é@{f} 5*8ES e (intense hurricanes), 235 (species) o))
(3) S5O0 S )B S$ch0, HIBTYE ¥8 SSBe SHBO, (NS JenDH0 BT DOHEO0
(@) SIS BNS 50 Sit80, CO, BTTES.Bifes0, 2HAIE (glacier) (ST PSSO
29. 808 BIMSTEC DB&8R0-23586 & sﬂe_.'.-'%‘ﬁjﬁé B35’ @00 o :
A DS SFode ] B. 0% Hed rod
C. DIBS BSS & D. O»O. FarHd Qo
DB (EITD) DOTHESISW : e
(1) C,B,A, D 2) A,D,C,B 3) D,A,B,C 4) A,BC,D
30. DETRSIWBE Ho0HOD 806 FIVIOS DD DD ?
A DE507es DRSS B8 SNDF @OorreD Eeds).
B. DEINBAE H25 S0 D25BF (DS SN, (563 205508 Sdrd 2,60 Jensd EON Hotnod.
C. DE0°Es DM oSS OSTBOD (EWSS §% (ICC), BFO NP ATTOD D81 8N 0.
D. 2&50°25 DS 308, AroanE OGO SHPFDIS (HHOTH eE, F0aNE BOFTORD LG IO 0 DG
DS DTS B0,
20 RGP0 DOTNE D '
(1) C DO D 575 <'] (2) A 63 B Aredd
(3) A, B 6050 C S5 ( ,ﬁ (4) A, B A D SressH
81, 1955, 27000 HrEE0 808 S BIFRHSS ?
(1) ©O3 &S50 (NAM) S8 D7) 380 [
(2) 235eb-Tre) DS DO 2D)0R0
(3) S7ébS oS8T B0 e 1550 (NIEO) JTP)ENS D80
(4) es0r® (ASEAN) a0
BSE
TES.T 224 R (11) Bl

S FR eSO 000D (808 5SS D HOTOSD ?

A (IS SR AN FTW HOA ek @b (long) 003G f1e> D8BEFR) 3890 BATO0Lron,
B. 207 5O0$0 HBAM SEISR0 FA SHERE 56w (AS TR DS,

C. 1S TR (HerS8n SO S S (Rl Nino) [23%3s30 EeHed.

D. ¥55¢S" (Kyoto) |&re’s*eS (5576550 (088 (direct) (AS 570 OS0Hen COy, CHy, SFe 558050 S0,.
PSTOINIESIN ) N To I8
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ection with the Bretton Woods Conference :

o : :
niges Hampshire, USA, to discuss the post-war g EEnational

e e
B. ;‘i?; zum;f?e:;:i paved the way for the formation of International Monetary Fund (IMF) and the
World Bank. _ 0
Which of the above statements is/are correct ! @ A only

(1) B only (4) Both A and B

(3) Neither A nor B . }
. : itiative (BRI) :
i ' ; ts in relation to 31: Belt and Road Initiative (BRL)
33. Consider the following statemen & eloped and launched by China in 2013.

A Tti infrastructure project that was CeveObuEd I
B. It ::: aajil?ia]a:; s;:nghenin; China’s soft pn@r in Asia, Africa and Europe by establishing land
and sea trade routes. E
Which of the above statements is/are true ? r
(1) Only B is true | 2)
(3) Neither A nor B are true

34. Which of the following organisation haa jurisdiction over the Convention on the Prevention and
Punishment of the Crime of Genocide, 1948, also known as Genocide Convention ?

(1) Permanent Court of Arbitration (PCA) (2) International Court of Justice (IC;I )
(3) United Nations General Assembly (UNGA) |(4) International Criminal Court (ICC)

85. Which of the following statements in relation to SWADHAR Greh Scheme are true ?
A. It is meant for Tribal women.
B. It is funded by the Union and State Governments.
C. It builds houses for women.
D. It provides legal aid and guidance to women. _
Choose the correct answer : Ll

Only A is true
ﬁ} Both A and B are true

(1) B and C only @) A and B only
(3) B and D only 44) A,BandD only

36. Which of the following schemes/provisions %gare specifically meant for the socio-economic
development of Scheduled Tribes ? 6O
A. PM Adi Adarsh Gram Yojana B. Grants under Article 275(1) of the Constitution
C. PM Janjatiya Vikas Mission D. Atal Vayo Abhyuday Yojana
Choose the correct answer :
(1) A, B and C only (2) A only (8) B, Cand D only (4) D only

37. The Cabinet Secretariat of India is organised in three wings. Which one of the following is a part of
the three wings ?
(1) Social Policy Wing (2) Military Wing
(3) Agricultural Policy Wing (4) Fiscal Policy Wing

38. Which of the following models of District Adminigtration that emerged in post-independent India are
true ? oy

A. The first model emphasises separation of regéﬁitﬂry functions from development functions.

B. The second model stipulates combining regulatory and development functions, under the control
of District Collector. e

.C. The third mﬂde_l recommended by Sarkaria‘Commission was for unification of regulatory and
development functions at the district level and decentralization at lower levels.

Choose the correct answer :
(1) A and C only (2) A and B only
(3) B and C only (4) A, BandC

EE
TES.T 224 R ~ (12) E%ES
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32,

33.

34.

35.

36.

37.

38.

BRS 8 $°5)8&8)50 5020809 08 DOFTON |$ar0OrHS :

A S SOOI 1944 S @DHOSSD, S5 T 0% 28 S s 5085 0T e *
order) a2 w8 OB, 28008, 5 T8 3 ' @ Q'e30%) (Slot 8o (economie

B. & 5080 @08T'@0%h (555 A (1

B MERJ 3805 (D018 257505 Do 0% &8 &208,
DO BDBS TS DA/ 2.5 ?

(1) B Srebad g (2) A Sr(edad
(3) A SHBAW B Bodkr 5259 4) A 8050 B Bodkr
3O @0h 58 2325535 (BRI) %o Ksamodbggh SO0 FWIND (O

A. 2352013 S B T SrroBoSHA "G00 DAS (HDDOL FPOW F'OE HEHFOTE (FBE.

B. &0, (D5 OGN ChrsS e @S AT, DV(E ST DEIESB0 P IT° B hed 8 290 o
20000 TOHTRE BTA0SHAIA,

DO SRS TYEOS AB/AY 25y ?
(1) B S 20:3)

(2) A Sredad o))
(3) A OAW B oA 2,0)) S°)

(4) A B0 B BOGT 2.53)
B RE TS DSBS DR 0D VSO MWL), VTS OGN 2E, 1948 H0E €ORS Q0w 80H
TS DO ?

(1) F35e DEEIDES ¢ T 8050 (PCA) (2) @OoSTSaH 0”00 "0 (ICJ)
(3) DIFO°F S O JHDBE 2 (UNGAY) 4) ©OST AN (EO S (ICC)
QIED B SHTINIF HoDOBOD |80d TIOS’ DD BRI 2

A. NOBR DFFOH D020AODS HSESD. .t

B.  S0(e5 SH805) T7{3) 15208 560 080 [BRorrad 16%.
C. DIFOR HTanedd AB0t0. &3

D. NrFOR 7505 HT0D0 B0 S8 5286 850 5030,

Q0N RPEPR0 DOTNE D -
(1) B D8 C Sedah (2) A SHOoW B S7(edad
(3) B DO D S(edadH (4) A, B 0H8a%w D Sr(edadd

808 F8S" D HBEo/HETED, ©0F0/eoTen (HBBOD NETIED BHe FIrBs-es08 @dI)OEI0
EPODVEIO/D.

A DTN OB 86 &858 (e B B. Trergof (00508 275(1) (205°80 [B3) QG0ED
C. (DTS OIS 520D DS DAS D. &S S @ZHISOD T3S
QA0 IGO0 2)OTNS A

(1) A, B 8w C Ariedad| (2) A &?LéﬁaO (3) B, C 00050 D Sedady (4) D Sr|edad

2P ESTE 5 5DTE SDTOHED Sarchy DT Fporr S5IVEB0sVAIS. 806 VS’ D Dariisw wods’ 2.
(1) 3B DS Deriian L] @ 208 deriisn
(8) SLSOD NG 2T a0 g’; (4) D DTS DT

25728565 550550550 DBYRS &2 808 B HOTOS STTOS DD VB0 ?

A BOEES S50 DOHO(e569, @D BB DV HES ST=YEND SN0, ;

B. DOG%S ST &Ber EBEM @3¢55855065, DOHOISED DO @DSYE VDO NGBS dAPEJ)
QDZN0E. ‘

C. ;535:‘? 5505 2263 FFoneY DO HOAW DD DS 8588, (808 Frans’ JSO|HEBD
50,8057 EDAS VF) BROD.

DBS DTG0 DOTNE I :
(1) A HBAH C S (2) A DB B v
(3) B HOM C Sr(ebad (4) A, BS8Aw C

TES.T 224 [R] (13) :
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+ Prﬂdll!:t-iﬂﬂ Linked Incentive (PLI) Scheme for Nﬂtiﬂn;ﬂ
39. ; . in relation to the tro
P the DU ¢y Solar Modules : f Po G £ Indi
A 1 by the Ministry ot YOWer, (zovernment o1 India. _
g. ;I;h;:;l ;m;efeiﬁmizitbe}x; for sourcing of local materials in solar manufacturing.
Y : ? '?
Which of the above statements is/are Correct | (2) A only

(1) B only |
(3) Neither A nor B (4) Both A and B

Which of the following isfare true in relation to the Pradhan Mantri Kaushal Vikas

40.

Yoj 4 2 ) i | :
AT]J ??szaﬂéfanigigeﬂ scheme, providing free of cost skill development training and certification.
B. It had two components kn,own ag Centrally @'ﬂnsared Centrally Managed and State Sponsored

State Managed.
C. It prnvideﬂafkﬂl development training to scheel, college dropouts and unemployed youth.

D. It initiated a process of creating aregistry of[SKills.
1 o

Choose the correct answer : %
(1) A, B and D only \ 2) A, B and C only
(3) A,B,Cand D f (4) A, C and D only

41. Which of the following are areas whé:‘fe the civil society organisations can contribute to good
governance ? i
A. Mobilizing people to take part in public affairs
B. Promoting cross-cutting business groups
C. Improving transparency in governance
D. Promoting competitiveness for individual gains -
Choose the correct answer :

(1) A and B only (2) B and D only
(3) B, C and D only @} A and C only
42. Which of the following measures did the Second’ Administrative Reforms Commission suggest in its
reports to ensure ethics in governance ? &
A. Liability of corrupt public servants to pay damages
B. Protecting whistle blowers &3

C. Continuation of discretionary funds at the di&posal of legislators

D. Restoring Official Secrets Act
Choose the correct answer :

(1) A and C only (2) A and B only
(3) A, B and D only (4) CandD only

43. Which of the following was the Mahasanghika centre during the Vishnukundin period in Telangana ?
(1) Keesara (2) Bavapuri : (3) Indrapalanagaram (4) Kallacheruvu

44. Consider the following statements :
A. Jayapasenani referred to a dance form called Kollata in his work “Nrittaratnavali”.

B. This dance was performed by Dommaras in Telangana.
Which of the above statements is/are correct ?
(1) B only (2) A only E;%} Neither Anor B (4) Both A and B
45. Consider the following statements I:]
A. Baddegeswara temple is built at Vemulawadagy
B. ‘Kalyanakaraka’ was a book on medicine in Pfakrit.
Which of the above statements is/are correct ?
(1) B only (2) A only (8) Neither AnorB (4) Both A and B

[w] 4 [a]
TES.T 224 [R (14) %‘-E%S
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39.

40.

41.

45.

&) NP0 O Y SEEFIS) oS GSID eords (S0 (PLI) Y J
5632 HBBBOSOM - J e SO" '@ )0 (PLI)  3&505%0 N0D0H0T) 8od

A 2 OG50 DI HOBES § B, 2GS (H2$He5 50 ereD TNSY A,

B. g;é&c&)gei) 5 )BS” FRE SSHIO DAWIMTIE e053E0DS 3566 D5DDD SO Tahcto A
0.

2 DO DO/ DB ?
(1) B Sr(edad L (2 ASyessd
@) A OG5 B BOKT %9 Gl () A S0 B ok

(LT D03 §°ND SR ABresed 2016 - 2020 §€:}Emam EKS T3S AE/DD DB DSID ?

A, 0 SYETDIYR BE S &S0 oS, SDE80T [TOLN-e35Oeb DBE0

B. OJS' Bol& (r3r2es, Tols S5 i@écﬁ» Oa (BrA3rees OPla) QTSR ©F Bo) 2rren
GOBT O s

C. RO TOFTO, S°T°O BeHOD D500 AODF0HDAS 08 OGN ADE SO BE DY
©L)E 35 0908 ®O0BODOE

D. 30 SISO 2.8 8BRE EreroBoT |HEHE (800D

DB DIFGTS0 JOTHE I :
(1) A, B 08050 D Sriedsh (2) A, B SO0 C 5| ebadd
(3) A, B,C O D (4) A, C 8350 D (e

508 2 SOTOS” S B2 DOV DOV G Sreeon ?
A. (D2 SFSFTOS” e DOHTISDE 235 HNESe TAHSBO

B. ) (cross-cutting) PSS ST (8%e )ar0tIc0

C. OIS JESBES DS DESB0

D. S50 ereros 8¢S See i)y L_ﬁ‘éﬁrmﬁé’fb.i

DB DITTTS0 JOTHE AW : ()
(1) A B B Sr(edad &) (2) BHOAM D Sr(ehd
(3) B, C 8GN D Sr{ess U] @) A 58050 C Sres

OIS TRESHD Je30ToLHB BOS ﬁﬁéﬁ)ﬁ? H0H) 60 A S8 ISOES’ 808 F3S D
DO ATPVOWOD ?

A S DBIB0 BOOTIRO DDBE ;> IBS (D20eh § SO 23735
B. 2352710 §0e 85

C. TR0 DN 9 B30S DT5E.6 ACNOD TR0

D. @850 8T 98 SRR

QDN QPGP0 )OS :
(1) A DB C S| ehad (2) A OO B Sr(ehad
(3) A, B 08050 D &oe(ebad (4) C DO D S50

%1808 S¢3S° DB B0mre [270e)) HOFOO0DS DPHOBNO SO0TES sDF*OE SOLIS ?
(1) 838 (2) 253208 % (3) @OIBTONNE0 (4) SETIDN

1E08 752500 DOHEFOTVI : O) .
A S35 59" S BODITVTR S @0 9950S (DT DOTT .
B. & 5y85Q) B0 Se00en (89T,

D TRDIOS DO/ SBSE/D ? o
(1) B S3ebad (2) A (e 9 (3) ADNOAMBBOGRT S (4) A DB B BoAr
&2 1B0B 5 50e HOBEIOTHM

A 2B0558 BareoHsn SSneads” J805908008.
B. 28 2706 EDOHDDED ET595° 68 @D (OGN DEENNE SODOHODOA.

2 DO DOIND HBIE/D ?
(1) B &(€bad (2) A S (3) ADNOAO BTOUr Sy (4) ASH8AW B Body

TES.T 224 [R] (15) e
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46. Match the following authors with their works :

Author ] Work
A. Singama Nayaka L Chandodarpanaill
B. Peddana II. Vikramarka Charitra
C. Ananta III. Ratnapancalika |
D. Jakkana V. Kavyalankara Cudamani
Choose the correct answer :
(2) A-IV; B-111; C-1I; D-I

(1) A-IIT; B-IV; C-II; D-I
(3) A-I; B-II; C-III; D-IV )
Name the foreign traveller who visited Golconda in the month of ‘Muharram’ and reported the

clashes between the Shia and Sunni sects of Musliins,.

(1) Jean-Baptiste Tavernier (2% Jean de Thévenot
(3) Duarte Barbosa (4Y? Francois Bernier

(4.) A-IIT; B-Iv; C-I, D-II

47.

48. Consider the following statements :
A. The Qutb Shahi style of architecture was a mixture of Persian, Hindu and Mughal styles.

B. The Bala Hisar Gate has the figures and emblems of Hindu mythology.
C. During the time of Abul Hasan, a temple at Anantagiri was renovated.
D. Shias Emblem of Five is inscribed on Charakamans.

Which of the above statements are correct ?

(1) B and C only (2) AandB only
(8) Band Donly - (4) A, C and D only

49. Consider the following statements :
A. Pampa Kavi’s ‘Vikramarjunavijaya’ throws snm@ight on Mudigonda Chalukyas.

B. Krivvaka inscription mentions the conflict hetv«[ﬁn Mudigonda Chalukyas and Rashtrakutas.

Which of the above statements is/are correct ? Py
(3%* Neither AnorB  (4) Both A and B

(1) B only (2) Aonly
50. Who among the following was the author of “Prataparudra Yasobhushanam?” ?
(1) Mallinatha (2) Vidyanatha (3) Sakalya Malla (4) Iswara Suri

51. Consider the following statements :
A. At Srisailam, God Mallikarjuna was called Chenchuramayya.

B. Tikkana propagated the Harihara cult in his Mahabharata.
C. ‘Anantarundhati Vrata’ was an important activity during the Kakatiya period.

D. The Panditaradhya matha was located at Tirupati.

Which of the above statements are correct ? C]
(1) A and C only (27)A and B only
(3) C and D only (4% B and C only

52. Arrange the following institutions in Hyderabad inghronological order of their inception :
A. The School of Engineering B St. George’s Grammar School
C. Madarasa-i-Aliya D. Dar-ul-Uloom Oriental High School

Choose the correct order :
(1) D, B, GA (2) B,D,A,C (3) AB,CD (4) B,C,D,A

TES.T 224 [R] (16)
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53. Identify the correct pair of tHe 058 " Bala Sundar;
(1) Kodati Narayana Rao * _ @olconda Papgitula Sanchika
(2) Suravaram Pratapa Reddy o Palle Pataly
Sas e
Ei::: ?ﬂapalh Anantha Krishna ‘ Nee@gm Kavula Sanchika
na aiah
54. Arr i _ tions in chronologicallorder of their establishment
; ange the_,- following organis | ‘E‘ﬂl Arundatiya Mahasabha
A. Mat&ngl Sabha ]:ﬁl-'_jl Munnumkapu Mahasabha
C. Ambedkar Youth L-eag‘l.lE e
Choose the correct order : ! " (8) B,C,D. A (4) C,D,B,A

(1) A,B,D,C (2 C,B,AD

55. Consider the following statements : & |
A. Fourfold division of the society ha ‘taken shape only after the Satavahana pennd
B. The Joint family system was not fo "_wed during the Satavahana period.

Which of the above statements is/are correct ?

(1) B only (2) A only (3) Neither AnorB  (4) Both AandB
56. What is the Buddhist prayer hall called 2 '

(1) Vihara ' (2) Stupa (3) Arama (4) Chaitya

57. Consider the following statements ahnut Iksh?aktiﬁn Shantamula :
A. He patronised Vedic Religion. ()

C He had donated Hiranyas to Buddhist Sanghas and Jain Basadis.
D. He was a devotee of Mahasena Virupaksha. E::;
Which of the above statements are incorrect ?

‘(1) Band C (2) Aand B (3) CandD (4) Band D
58. Consider the following in relation to the supply of LPG domestic cylinder at subsidised rates under
the Mahalakshmi Scheme :

A. The scheme is applicable to white ration card holders.
B. The State Government would transfer the required amount to the Oil Marketmg Companies

(OMC) on an annual basis.
C. The OMCs on their part would transfer the suhsui:,r amount by Direct Benefit Transfer to the

beneficiaries.

D. The supply is limited to average of the last ]ﬁve years of consumption of cylinders by the
respective household. ~

Which of the above statements are correct ? :;:

(1) A, B and C only (?’é‘] A,B,CandD

(3) A and D only {%)3 A and C only

59. Consider the following in relation to the ‘Gruha Jy[cﬁfhi’ scheme of the Government of Telangana :
A. All the residents are eligible for free electricity up to 200 units per month, either for domestic or
petty business.

B. DISCOMs will send the details of subsidy to be received in the scheme by 20t of every month
and Government will release the subsidy amount to DISCOMs.

Which of the above statements is/are correct ?

(1) Bonly (2) Aonly
(3) Neither A nor B (4) Both A and B

TES.T 224 R (18) =




53.

57.

808 T3S’ SO 2365 HBOHHS

1) Sored rorohHe o - 2O No&s

(2) SS60 (Hesd B - 05,08 Hodée Hod

(3) TEID @S0 SR TR - DB e

(4) HS) ®ozahHs - QOB Y HoDE

&2 1508 773 PO s ESradarsonT W WhWE

A. Sreof Oz By @©&H0odaah sHehss

C. 02356 ahrd OF ? S0R5) BTy 893025

5B (57 OTHEOA 0
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B. TSI SO0 &ai@ F0EN02) 35550 N80 ST s
D FEDLOS DO/ DBIE/D ?

(1) B (33D (2) A Sredahd (3) ANOO) BBOWUrssy) (4) A0 B Bodky
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BOOITED D92Ded S M %58 DHSTVE H020H0D F¢3 HBKE30S50S : |
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cts/barrage with the rivers:

o e S roje
60. Matcf_th; following lift irrigation P cm
LSt »
River
5 . % N " t;bﬂ'rmgg ! o ! . -
e O e
' Sl II. Krishna
B. Nizam Sagar Project N M
C. J. Chokka Rao Devadula Lift Irrigation SCHEHE I Penganga
LT _ , . .
D. Chanaka-Korata Barrage p e
er s .
Ejll;ﬁfilfh; iﬂrrceilangww & AL B-I; GIV; D-III
(e e s " @ AL BV, C-I; D-II

(8) A-l; B-II; C-III; D-IV

61. According to the Space Tech Framewﬂrk B
following are part of the Space Market V
A. Launch Services including Teleport angs
B. Satellite M_a.ﬁufacturingfl.auncher L :].l_faﬂtlll'iﬂg
C. Satellite Operations and Capacity S_éi‘".%es
D. Establishing Space Stations in the Orbit

'Choose the correct answer : _
(1) B, C and D only s (2) A, Band C only
(8) B and C only | : v (4) A,B,CandD

ril 2022, of the Government of Telangana, which of the
Chain ?
1ssion Control

62. Which of the following statements ahpuj:_--lj{%inﬂal Food Security Act, 2013 (NFSA) is/are correct ?
A. It provides coverage up to 75% of the total rural population.
B. It covers the two categories of beneficiaries, i.e. Antyodaya Anna Yojana (AAY) households and

the priority households. 4
C. Pregnant women and lactating mothers are not entitled to get a free meal at the local Anganwadi

centres, as well as the maternity beneﬁf%;,__
D. It includes only mid-day-meal schemes.

Choose the correct answer : C1
(1) B only | Q (2) A and B only
(3) A and D only ' & (4) A,B,CandD

63. Which of thf.- following atatpments abut_, the objectives of Pradhan Mantri Anusuchit Jaati
Abhyuday Yojana (PM-AJAY) are correct 2.1
A. To improve sf:ur::iu-.emnum.ic developmental indicators by ensuring adequate infrastructure and
requisite services in the SC dominated villages.
B. tl‘n increase _ht.eraﬂ}f and encourage enrolment of SCs in school and higher educational
institutions with residential facilities.

C. To reduce poverty of the SC It ; s
communi ting additional empl iti
through skill development. ties by generating ployment nppurtumtu-t:s

| f t
D Gif,:r: n;zf'ged s(fgleme of three CEﬂtI’ﬂuj?]apnnsared yojanas namely — Pradhan Mantri Abhyuday
Jana (PMAGY), Babu Ja__m'jt:gjn Ram Chhatrawas Yojana (BJRCY) and Atal Vayo

Abhyuday Yojana (AVYAY).
76
Choose the correct answer I—W
(1) A,Band C only A0 (2) A and B only
(3) A and D only 4 (4) A,B,CandD
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64. Consider the following statements.

Assertion (A) : foi inali oci
; : or the deprived and marginalised S

: | . +ion provided space 1€ deprive roCess.

E;Tﬁ;f{;ﬁiﬁf““, gzlinls:t;nd ; get their due share 1n loca] governance and development P

Reason (R) : |
on 11‘143"‘3&'55'-h“BlF'S to protect the interests

Decentralisation and democratisati <4 o
social groups like Scheduled Castes, Scheduled Tribes and women.

Choose the correct answer : y
(1) Both (A) and (R) are true and (R)18
(2) (A) is true, but (R) is false.

(3) Both (A) and (R) are true, but (R) is not

al sections for

of the most excluded

e correct explanation of (A).

the correct explanation of (A).

(4) (A) is false, but (R) is true. e
65. Match the following health missions with tie)launching year :
Name of Health Mission \ &2 Launching Year
A. National Rural Health Mission | E 2018
B. National AYUSH Mission i 2008
C. National Mission on Medicinal Plants III. 2005
D. National Health Protection Mission  IV. 2014
Choose the correct answer :
(1) A-II; B-I; C-IV; D-III (2) A-IIL; B-IV; C-I; D-I1
(3) AIIL; B-IV; C-If; D-I] (4) A-IV; BIL; C-III; D-1
66. Match the following Acts with the year :
Act Year
A. The SCs and STs (Prevention of Atrt}citfgg} Act I. 2016
B. National Commission for Safai Karam{:%ﬁs Act II. 1986
C. Child Labour (Prohibition of Regulation) Act III. 1993
D. Rights of Persons with Disabilities Act g IV. 1989
Choose the correct answer :
(1) A-II; B-I; C-III; D-IV (2) A-I; B-II; C-IV; D-III
(3) A-IV; B-III; C-II; D-1 (4) A-III; B-IV; C-I; D-II

67. Which of the following Article of the Indian Constitution is not related to economic safeguards
provided to the Scheduled Castes ? ;

(1) Article 46 (2) Article 23 (3) Article 34 (4) Article 24

68. Which of the following statements about Article 15 is/are correct ?
A. The State shall not discriminate against any citizen on grounds only of religion, race, caste, sex

place of birth or any of them, {j
B. N fft*hing in this Article shall prevent th¢ State from making any special provision for women and
children. S
C. Equality before law.
Choose the correct answer : e
&
(1) A Hilllld C only (2) A and B only
()R (4) A, BandC

R
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g4. (500 550D HONHEFOTHM
) DSTE (A) :

(DT LeNS DBOIOEEE @TOS SO BEEMS &) T2 ST % 8 Fh'&'::;?ﬁrﬁ BST O

HBAN 'S TS BA D SYB (HEANE’ O SAS Trerdy FORTRSE ©I5°F0 OB,
5°0&20 (R) :

D80 HGe i’:u::ﬂciin (DRSS (HIEAH %S Soerew, 0ED Ben SO0 ::.;:‘;rafm 50¢3
S50 DNVITTONOWVDAD Va2l HTEIe) (HAPBT D HOSE OSTDE HIFOD DESIOA.
OB NI O0 JOTHTRV :

(1) (A) B0 (R) BOAT D230 HBAW (R) e (A% $BS D68,
(2) (A) 20, S (R) ).

(3) (A) O (R) BOAT 230, S (R) ©TE (AN 5B Dadtsen 57,
@) (A) $J), 5 (R) A0,

G
65. (808 @85 AN O R [FPEODODS DO YIS 235HE IS ;

6N DS DD (DODODS S0568 )50
A, Q0D e 8T D . 2018/ ]
B. 2805 eowD AYUSH) HS  IL 20085
C. JAIS DAS 88 DAVSS Frodd) I 2005
D. JASS S (FDES 1AS IV. 2014
DB DIFETSO DOTHTOI :
(1) A-ITI; B-I; C-IV; D-III (2) A-IIL; B-IV; C-I; D-II
(3) A-IIL; B-IV; C-II; D-I (4) A-IV; B-IL; C-III; DT
S08 THETFON T¢3 DOSS YT DS 235DB W : = ; y
Q0 AD0ade3 )0
A. SC B0 ST O T (@Eres) TGS I 2016
D0 : ]
B. IS EAS DB Haraw 8538 &0 1) 1986
C. 27598 (ACHOo|esen D2AH0) HEO {3 1993
D. J5P0MO JTPH0 RO : j 1989
DBS DSFTE0 DO : 7
(1) A-II; BI; C-III; D-IV (2) A-L; B-II; C-IV; D-III
(3) A-IV; B-III; C-II; D-I (4) A-III; B-IV; C-I; D-II |
1808 T3S 2 @HEB0 278 TrarsoBoS' NETES Fuere el 88 0% H0N0HODIE S ?
(1) eH5600 46 (2) ©H86023 (3) e@5HE500 34 (4) @5H5680 24

@ OES0 15 HO0D (B0 7E36S &) TFEL0/TE5eD DB IB/BID ? ‘
A (D205 50 DO D& NS, G, Soo, Dok, :g}ééré BT ST FES B 8rrdorss® Jerodd DSE.

L0,
B. |22bed o (RO OO DOV (DSSE SdSHED §@;mﬁﬁﬁml & 2HE00 mﬁﬁuﬂfﬁ{‘.&ar
C. D0 SN0 DT ed SO, ©)
OB AT ETR0 o)OTNS R : & '
(1) A SHOO%D C (b (2)_| A 58050 B Sr(bad
(3) B Sr(ebsd (477 A, B 805 C
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69.

70.

71.

2.

73.

74.

75.

‘Garima Greh’ g lter home for transgender persons : ?

Which Ministry inaugurd t@'d 4D gvelﬂpment’
(1) Ministry of Women and Chll ‘W
(2) Ministry of Health and Family “;Eﬂ:nen

(3) Ministry of Social Justice ang B Aﬂ, A

(4) Minist she and Urban
nistry of Housing il ht Pﬁmntlng chemiggl-free natural farming ?

es is aimed 8% X
j}hlﬂgﬂch it £ Sch:f:un Scherue i % '(2) Bharatiya Prakritik Krishi Paddhati
(3) Vik ':": ;;"1'31 E;cha:uszcheme 2:0 . b (4) Farmer Producer Organisation Scheme

iksit Kisan Bhara

the data
m’are frue in relation to Telangana Economy, as per
m::gegf ft}:: ETEEEEE%; Séfnn;g:'tsﬁﬂﬂﬂm;;ll Estimates — 2023 published by the Directorate of
angana ?
Government
Eﬂﬂéﬁf Sztisggx?jsl;i ﬂI:‘f'.rcu:?lzf:i; Qf TE @ ana at current prices was more than thirteen lakh crore

rupees in 2022 — 23. LH
B. Telang;na ’s Industrial sector anﬁl%}"’wﬂ growth rate of 13% in 2022 — 23.
Ch ct answer : L
(1) ngsintll];re i (2) A only l‘ W U iﬂ] Neither Anor B (4) Both A and B

Inmnm Union Budget 2024 — 25 are true ! ?
Which of the following statements rel&‘taﬂ ttt g T

A. In the total outlay of the Union ]31.ltflg'll:‘.1:t the share of Gender budget
B. Estimated Fiscal Deficit is more than five percent of Gross Domestic Prnduct

C. Tax receipts are estimated at less than 25 lakh crore rupees.

D. The increase in Gender budget alloca.ﬁmll is 20% more in 2024 — 25 budget as compared to the
budget estimates of 2023 - 24.

Choose the correct answer : L

(1) B and C only _ & (2) AandBonly

(3) A, B and Donly ';_ (4) CandD only

Which of the following statements are tme in relation to the Five Year Plans of India ?
A. One of the main objectives of the 5 ﬁi}e Year Plan was ‘Removal of Poverty'.

B. To achieve Grawth with Stahﬂaty was‘one of the objectives of the 48 Five Year Plan.
C. The focus of the 7 Plan was on FoodgWork and Productivity.
D. The main objective of oth Plan was 1:4;: dhieve Inclusive Growth.

Choose the correct answer : .-

(1) A, B and C only i _ﬂ*r ' (2) B,CandD only

(3) A,B,Cand D ' (4) A and D only

Which one of the following statements is/are true about the progress of the Sustainable Development
Goal 2 (SDG 2) ?

A. The world is not on track to achieve zero hunger target by 2030.

B. Burden of malnutrition in all its forms remains a challenge.
Choose the correct answer :
(1) Bonly (2) A only (3) Neither AnorB  (4) Both A and B

According to the Household Consumption Expenditure Survey 2022 — 23, which of the following

statements are true ?
A. Chhattisgarh has the lowest rural and urban Monthly Per Capita Expenditure (MPCE).
B. Rural-urban difference in average MEGE 18 the lowest in Meghalaya.
C. Sikkim has the highest rural and urban MPCE.
D. Chandigarh has the lowest MPCE in P.u‘i:}an areas.

Choose the correct answer ; U
(1) B and C only o7 (2) A and B only
(3) B and D only (4) - A and C only

*
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(1) 1R 5005 36 @DS0 $H0|Be s T2
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71.

(4) a3 BN DPED SISTTe 0| Bed ¢ 7o &
& (808 HETOS’ DB ERIODR-SEre Dires S§IP D ) B 12r0c5erR8 GFR0BDEIE 7
(1) SISVAH OSTOBESED HESEO (2) T EB0% (rEDE K92 HOD

(3) DES ES 278S HB¥O 2.0 @B g5 0hmr et 1B e $09 D580

€1
SO0 (DN § 8RE HOAW ffeTros BBEBES 1HcH80HS Berome esOE 53y BE), OF OTITPen-2023
D0, SOOME BT S5V H0DOHOD 1§08 e §pseres® DB/ 2.5y ?

A, 2022-23 S SOOTR WO O BITrS)B (GSDP) (50 S80S’ 13 o8 e 86 Srarohe 0w
S0 SOQ.

B. 2022 - 23 &' S800mme GE) OFNE 8010 18% 598 Bendd BN,
DB DIFEI0 DOTVTDHW :

(1) B SnSD (2) A Sredsad (3) A B0 BOBoGr s (4) A SO0 B Bodkr

06550858 To(&S S 2024 — 25 8 HOD0H0D) (§08 55’ D 2,9 ?

B85 FES B0 530008’ ol DFES ¢ 6% 0T ¥ ST GOO.

SOV SODDAS 535N Wre> BITTS)BeS’ 5% F0T DKV, SO,

SOVD® JCDVAD DTG 26 ©F © §'& mc:\ﬁa? E0® €505 G08.
)

g owp

2023 - 24 TS WOITOS O )3, 2024-‘:.2 238 &S Dol 2FE Teranod) 20% HE0yST

= Jolal
DTS BITETH0 OTHEDEN ¢ s
(1) B 80 C SHSH @) A 005 B S35
(3) A, B 8050 D S (4) € SHBOM D S5

20 B3 DoV DeFPEH H020H0D (808 535S’ o) 2y ?

A DAY AEMON ©TO DAS DOWIIE (DTPE TB0EY (DTS GPTOS’ 2,863,

B. 23508 SrAS S9O FrOOWL0 T DO (DT PE BwEy sBTOS 2,5¢3.
C. GBS DOVNEQ |DETDE 853550, GG DO &&)EES D D" B0D0H.

D. S0P 598 (Inclusive Growth) D APEOIEI0 SRS (DETDE TINEY (DG GBHO.
Q0 AP0 JOTDT A |

(1) A, B DBAM C LSr(edad (2) B, C 00050 D Sr|edad

= (3) A, B, C0cmD (4) A DHOAW D Sr|edhad
0TSO 0550 2 TBE) FOODS HTHAE H020B0D (806 TIDIOS” DO/ 2.3 ?

A 2030 °¢38 (DD00 TS B ) es¥e) O TOOT SNBSS’ B,
B. DD ESeNIT &5e5) SFASTFESTH0 By 250 2.8 0w 0.

&2

DB DETCTSE0 DOTHE S : =&

(1) B Sredad (2) A S {3);@_'% S0Ocw B Bodr sty (4) A odakn B Bo&r

e 0B S5O0 O § 2022 — 23 |057°80, (Sod TIOS DD HBSD ?
A D80 DE TN T HOAD D (0 FHO S0 55000 (MPCE) &8 $50) S 508,

BB S0 aire’ (TE-DEEd (°0T0 NEH§ Hifen FOI0 S0 $5000S" B> ©S SF0ST GOD.
G 2080 0y, [ITPaDED DB DA TN S8 HFONO ©9ed DEVFIT HOR.

D. 5055086 G3nE) SOO0 SO0 SN0 HWE [oTOS @& S50SMT SOd.
NI fTPET 0 OTVT eI :

(1) B 8050 C S7(€ba 2) A HBAW B Sre(edad
(3) B 5805 D S(e53h 4) A B C Sr|edhad
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SOk — 2023 hich of the following pairs re ated to y

Feono ?@"@ b — 22 (First Revi
76. As per the Telangana SﬂﬂﬂEmnﬂt;w oduct (GDDP) of that district in 2021 eviseq

L : ¥ ﬂE RS el : !
Estimates) at current prices Lk mﬁ}_&%&?ﬁe'ﬂ 2o
ek ) ‘:Ir' .

Name of District GDDE W8 r
A. Hyderabad e 1:60 M W
C. Medchal-Malkajgiri : £120 CJ JJ
D. Adilabad RO O “I‘:ﬂ
Choose the correct answer: 'I:-I i Lﬁri;:(z) A, B and D only
(1) C and D only St é "I_.;_;;.':"l”{ﬁ'fi{‘i) B and C only
(3) A only T

it

i Eff;_f-gf-mange the following States 1n descending order in

g ional Family Health Surve , _ _
v b As per the Nationa Yy el pﬂ'ﬂl'in total pﬂpu}at,i(}n during 2019 — 21 :

C. Jharkhand D. Bihar

A. Meghalaya B. Uttar PI’E.dE

Choose the correct order : SR
(1) B,C, D, A (2) A,B,C, DSl (3) D,A,B,C 4) D,C, A, B

AR

78. As per the vote on account budget of elang:
State Assembly on ,’li}th February, 20 i
(1) £2-40 lakh crore g
(3) ¥2-39 lakh crore g i

1d ,@ﬂem Eeconomic Outlook 2023, the share of Construction

sector (a sub-sector of Secondary sec 1!5 n Total Gross State Value Added of Secondary sector of

. (2) T2:95 lakh crore
(4) *2-76 lakh crore

79. As per the data provided in Telanga

Telangana (at current prices and :,a ladvance estimates) in 2022 — 23 was around :
(1) 14% 2) 27% (3 23% (4) 19%
80. Match the following in relation to 2023 Nobel Prizes
Name of the person Subject, ?ﬁéld
A.  Jon Fosse I. Physics "Lf}
B.  Narges Mohammadi II. Chemistry
C.  Aleksey Yekimoy I Peace
D. Ferenc Krausz IV. Literature |
' V. Physibldgy or Medicine
Choose the correct answer : J
(1) AIIL; B-IV; C-I; D-II &3 (2) A-III; B-IV; C-II; D-V
(3) AV BII: C.I: DI L] (@ A-V; BIL; C-II; D-I

T

81. Which r::rf the following statements abodf'G-20 is/are correct ?
A. India held the- presidency of the G-20 from 15 December 2022 to 30tk November 2023
B. New Zealand is a member country of G-20 as of 2023. |

C. G-20 is the premier forum for international humanitarian co-operation.
D. G-20 was founded in 1998.

Choose the correct answer :
B,CandD
E;; o only (2) A, BandD only
(4) A and B only
TES.T 224 &I, - (26) 5 E]:
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SBOOITE Trarrds 0¥ S 0|80-2023 (D560, BOOrS'D 2ele) DO o°¢3 QA0EY, DS SSereSt

e B BATrS)S ([0esed ISB0DS @0tsar) 2021 - 22 § HO0OODS 1806 26 .
2SDOVDBTON ? | ; o

2T DD WO 2T TIPS (. OF© §EV ST
A rSTerd . %186
B. S0rroG D20
C. DBYO-erE A T1-20
D. e@bererd . %105 a
BB HSPES0 DOTHTRSW : ®
(1) C 805 D Sr(ead ¥ (2 A, BSOS D SrdD

(3) A Sr(edad (4) B OO C Srledad

w W, 'H?
23805 Boen0 @Bis 0S5 105760, 2019 - 3HNSs IS0 2TereS DIVSVY DEBE TS0 BTSOT
806 T T 3T BD0S @8 )8 :

A Dreod B. &6 (083 C. &rdos D H5E
DB |ESPR) DOTHE VI :
(QE Gt @ A,B,CD (3) D,A,B,C (4) D,C,AB

2024 — 25 0% HOSSITAE S0BOBOD, 10 DISG, 2024 T BLOTH TR SNODS (HSFDEBS
BOOTE Ol 2.8 S T DT (DH5°G0, @O J0HDAENS VB0 50N ST :
(1) T240 ©% e S (2) ¥2:95 oEe TV

(3) £2:39 o e T (4) %276 o5 TV
B0 328 08 S0 2023 &S @0&B2S ST 030 (D5°50, 2022 — 23 &’ oM TR O $S309H

0o ABNEY AP T ) Desd «HE0Y {Lﬁ@@éﬂéﬁ 38050 @& O SNOB) @othTren) & 0L
B0H50 (B IB0H 0K’ 2,8 &HB0K0) TNEY, TEE NITFET : -

(1) 14% 2) 27% o (3 23% (4) 19%
2023 &5 D0NSYTE SBS 2ITVEBE ;‘-’aoz:.c:r@-:{fﬁ) &: 1B0B are3 235D Yo :
IS5 DD B5E/S00
A ST I, H28)
B. SR 0575020 I SR
C. ®38)DETra III. 70ed
D. 0x) |55 IV. arorebso
V. #8888 7|00 8o TA0
DB DSTETI0 DOTHERVHN :
(1) A-III; B-IV; C-I; D-II (2) A-III; B-IV; C-II; D-V
(3) A-V; B-III; C-I; D-II (4) A-IV; B-III; C-IT; D-I]

G-20 HBOD (80 BDYS TT DS DA/ 2:5)

A 182028 2022 DO 30 550205 2023 SEEIHG-20 8 2rESTEI0 @58 ¢ HroD0b.
B. 2023 7638 Sre3erol G-20 S &g BF0.
C. G-20 ®OSTBOH IFSAD TSRS H0RHOD 2.8 (VG HED.

D. G-201998 & 0D R0H. *

DB DAFLRIO 2OTDEV

(1) B, C 08050 D o3| ehad (2) A, B 805 D &S3|éhadd
(3) A Sedad (4) A OO B mLééﬁ

TES.T 224 R] (27)
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,,1; respe Cti?(} sports :

82.  Match the following SPOTtSPTS™ i, mp of the spor

Name of the pelSClARIEEE TGRSR
A, Pravin Jadhav Toa v

B.  Singhraj Adhana -
C. Aaryan Davande
D. J. Srimathi

Choose the correct answer : oA
(1) A-V; B-I; C-IV; D-II DR (1) A-TII: B-YHC D-IV
(3) A-IIL; B-V; C-II; DI | SRE L

83. Which of the following statements ﬁbﬁuﬁ ; N I_-...,,

A. It uses a three-stage solid- eﬂaﬂl’ﬁﬁ@]}'ﬁﬁ%ﬁ 2000 kil -
B. Itis capable of striking targetsat ratiss B ometers only.
C. Tt is indigenously developed by DRULE _
D. It uses 'I:[Fultiple — Dependable Targe biﬁ?ﬂb—»e:ntry Vehicle (MDRYV) technology.
Choose the correct answer : |
(1) A, B and C only
(3) A and C only| |

. 1 Iy

84. Who was appointed as the National It
Commission of India in October 2023;;3%}#.:
(1) Rajkummar Rao| (2) Pankaj Tnpah his .

--jj:%'*l.' (2) A and B only
- B ‘? (4) A, CandD only

for Voter Awareness and Education for the Election

" (3) Virat Kohli] (4) Sonu Sood
85. Which of the following statements ahuﬁﬁ%ﬁganyaan are true ? ()
. 5 T G S s
A. LVM-3 rocket is the launch ?ehdgj‘g%__; aganyaan mission.
B. It consists of solid stage, liquid stage and eryogenic stage.
h somprises of Crew Mn@l

Al
i

C. It has an Orbital Module (OM) which¢o e (CM) and Service Module (SM).
D. It envisages demonstration of h '_(;"f:;_?épace flight capabilities by launching crew of 5 to the
Earth’s orbit at 500 kilometers. 0
Choose the correct answer :
(1) B and C only
(3) B and D only --' r;.%,,-?‘ (4)
86. Arrange the following sectors/items in ﬂ%ﬁﬂnding order based on proposed allocations (in ¥ crores) to
these sectors/items in Telangana State vote on account budget for the financial year 2024 — 25

presented to the State Legislature on 10th February, 2024 :
B. Capital Expenditure

iﬁ‘ ) A B andC only
A and B only

A. SC Welfare

C. Eduecation D. Medical aaj Health

Choose the correct order :

() D,C,A,B|] (2 ABDC (3) B,A, C,Dg (4) D,A,C,B

Which of the following two countries conducted a Joint Militar@xercise “SADA TANSEEQ?” during
January — February 2024 7 -

(1) India — Afghanistan

(3) Pakistan — Tanzania

88. Arrange the following States in descending order based on percentage of Geographical Area under
Recorded Forest Area (RFA) in 2021 as per the India — State of Forest Report — 2021 published by

Forest Survey of India:
A. Nagaland B. Sikkim C. Mizoram D. Arunachal Pradesh

Choose the correct order :
(1) B,A, D, C (2) A,B,D,C (3) D,B,A,C (4) B,D,A,C

EHE
1 R (28 ) %ﬁ

87.

Yy
(2) Iran- Kaﬁal_:hstan
(4) India — Saudi Arabia

TES.T 224
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1808 30)S BETHOD 5788 0208090 185 Somrers® s DEYHW :

358 DD 5S¢0
A (DB 2SS . 280h
B. 0000 oY I 237 0E)
C. &850 S0l III. e8,38
D. 2 258 V. HSarS
| V. Sre3oh
DB DSPETS0 DOTHE S - @
(1) A-V; B-I; C-IV; D-II (2) A-IV; B-II; C-III; D-V

(3) AIL; B-V; C-II; DI oy (4 A B-V: C-I: DIV

@0)-5 HO0D AN (808 s seS” DD 2.5 vE
A. E& é?d}-:ﬁéi -0 30225 o ﬁ:aﬁb%%ﬁ@m&.

B. Q8 2000 85 0eXQ DS HOAS &5S) FHHD TEOT e8¢0 Sy

C. A BRcHomr DRDO @S5y TR0, | v SPaog

D. 28 NS - A0B2S erRe2nS 8-J0o(¢3 IorsS DS) 28R (MDRYV) &H035°00)
BB DEFEm0 OTHEHID gl
(1) A, B OO C S5 (2) A DHBAW B oSrr(ebad

(8) A DBAW C Sr\ed (4) A, CHBOSY D S3|edad

&F25 2023 S 2788 IYEO IO LS OITITT® SHBAD VLSS HBOD DISBD 2B o DH
(National Icon) 538 QAHVODOE ?

(1) OF DB os| @) Hoges | Bard 3) Jod 4) S b

B A3 HBO0D (80O 2D &S’ DD 2,5 ?
A. LVM-3 O°8¢& (58S 0SS AS ' ¥ I%:
B. 28 DS &%, 1695 &% SH805 |¥BreE cﬁ%é%,o SN Hoenod.

C. &S B °¢$S (Crew Module) 8050 E\]ﬁ,ﬂg&} °C$O (Service Module) §OAS e38)erS S8 sS
(Orbital Module) &0tn0d, e |

D. 2O 25 T8y, 500 ES'NES £5.565° DB D206 (DTFDLE0 TL0° TS @0SBE DSrees

DT (DEBIN0H.
QO RATPEII0 )OTDT M :
(1) B 30N C S5oe53Dd (2) A, BDHBOw C Sr(edad
(3) B 0805 D &57°|€8a (4) A SO B Sriedad

10 230, 2024 TR FIOSISH HDBY0DS Boorm O SB-eS  @FToS 2ZE
2024 — 25 895 J0H T8 17D (8§08 S0mren/e07°e%) (HBTA0DS Feronoye (F F&S°) escrdorr

808 S0Mmren/®oFad SE e (53065 @565 385 - |
A &7 Soere NoE o B. Sre)dd S50%0

B} el D. R&§ 0005w esBiiso
DB (ESTDY DOTHERS - J
(1) D,C,A B 2) A,B,D,C () (3)..B,A,G;D (4) D,A,C,B

&2 1808 & BOCD TN 23950 - D258 2024 eS“’[%)c:' SND" BT HOONE VIS DTEN0 DB LIFOTOW ?
(1) 20805 - 8D 5 (2) 20 - 8§28
(8) FEFS - ¢r02das s [@ 20805 - S @0

POY _I0s ©H 20805 (HNO0DS & FOBAT-VS &D IV 69F-2021  (H580
2021 & SIFBS @) (050 (RFA) 1§08 &55) eTHPE (27050 E0 7°er) 283 1808 23S o) ER O
T T (ED0S @08 )3 :

A. amrerod B. %0 C. o D. &RTrdS (DT5
HBS (8570 DOTHEREY
(1) B,A D,C 2 A B,D,C (3) D,B,A,C (4) B,D,A,C

EEE

ES.T 224 E {§22.) .‘ :
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89.

91.

92.

93.

95.

. | - en
In which country was the vere _ (4) Saudi Arabia

(3) Australia

(1) Glasgow, UK | (2) Egypt

for the year 2024

Who among the following from Telangana State was conferred Padma Shri award

=7
in the field of Literature and Education S
(1) Omprakash Sharma (2) Harish Nayak 3) Kethayath Somlal| (4) Uma Mahes
+.1£Ille Seturity Conference 2023 ?

Which country hosted the Eth Intze-matiﬂnal Mﬂfi

(1) Norway (2) Philippines (> _Singapore (4) Australia |
Match the following Sahitya Akz_ademi awardeﬁ in poetry for the year 2023 with the language 1n
which they were conferred the award : A
Name of the awardee Language ¢
A. Vijay Verma I. 'SEB]_H%';'
B. Arun Ranjan Mishra IIL shmiri
C. Manshoor Banihali  III. Gujarati
D. Vinod Joshi IV. Dogri
Choose the correct answer : Wik
(1) A-II; B C-I; D-IV R (2) A-IV; B-II; C-III; D-I
(3) A-I: B-IV: C-III; D-II (4) A-IV: B-I; C-1I; D-III
Who amongst the following were appointed as Election Commissioners of India in March 2024 ?
A. Rajiv Kumar B. Gyanesh Kumar
C. Sukhbir Singh Sandhu D. Arun Kumar Goel
Choose the correct answer : | Cl
(1) A, C and D only (2) B,C andD only
(3) B and C only . #¥4) AandConly

Which of the following statements relatied to Admya-L1 is/are true ?
A. The orbit of Aditya-L1 is located roughly 154hillion kilometers away from the Earth.

B. The mission will help us in understanding Coronal Mass Ejections.

Choose the correct answer :

(1) B only (2) A only
(8) Neither A nor B (4) Both A and_B—|

Which of the following symmetry is not found in animals ?
(1) Bilateral symmetry (2) Radial symmetry (3) Circular symmetry [(4) Asymmetry

Match the following satellites with the year of their launching :

Satellite Year of Launching
A. Bhaskara-II I 1988 (]
B. GSAT-10 IT. 1981 ()
C. IRS-1A IIT. 1990 Fy
D. INSAT-1D IV. 2011 L
V. 2012 i
Choose the correct answer : s
(1) A-1I; B-V; C-I; D-III (2) A-IV; B-V; C-II; D-I
(3) A-V; B-II; C-IV; D-I (4) A-II, B-III; C-I; D-IV

res.T 224 & & &
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S8R, B GV COP-26 » BFoS' 28A0A 2
(1) T&F, CS0S (2) &2 =

b
@ &G[_n}S‘oJ. 383 (2) J&ﬂ VoW (J]|®) S8 FHerS| (4) G5l o350 &,

91. 8 ®OSTHAH OB ETOeS S )8M) 2({23 & 3306’ 226R08 7

(1) &0g (2) DODHINY [ | [® Rotssys @) RO
92. éﬁgzg?; (?;;és ®S Enz:i;a'@ 8 eSersy 68 OTD SIS 2FAOSE 2365 HE o5
A 20D 3O L 000980
B. &% 0233 |7 II. 30
C. DATYB 2rAT® I11. tHhsored
D. dSE S V. &0
Q0 QAP0 DOTNT DD
(1) A-II; B-III; C-I; D-IV (2) A-IV; B-IL; C-III; D-I
(8) A-I; B-IV; C-III; D-IT (4) A-IV; B-I; C-II; D-III
8 2024 S’ 1808 TOS° D3K JOES §§lmc6‘/5,3 S ROBAT T AOHDOIDGFED ?
A, T2 2drb @ s ANFORSVIN Vo)
C. DB Dok Ho D oS HIE FHS
HDR DSPET0 oSS0 [
@) A, C 0% D S5 r () B, C 58050 D Sr&3h
(3) B DA C S5 | (4) A SOOI C S

S80S5-L1 50 5020000 (8085 2D)S Taried DD 2.5 ?
A SOSL1 BT 58§ BT HOB T 15 DOOHS ESTDED SrsosS Hod.

B. & A SIS R DBE.S)) (Coronal Mass Ejections) & @30 D& 5@ O3 S0,
QDN VIO DOTNT DS

D) BImS$D @) A ST
=~ (3) A DO B Bo SN (4) A B B Boddr
52 (808 aE3S’ 2 DeAS0 B0HOS’ EDDOTHE?
1) BrSEAS0 (2) 858 NS0 () @) SgTssaso [@) edraso
=
&3 (808 &0 7¢3Q) (DABTAODS &oﬁgwaé‘ 235DBTVS :
ST (STAODS DDe3e8)50
A 270 6-11 I. 1988
B. 27°&-10 ) 1L 1981
C. 2eb)n-1A ITI. 1990 o
D. @57°¢-1D IV. 2011
V. 2012
DBS DTS DOTNT W
(1) A-I; B-V; C-1; D-III (2) A-IV; B-V; C-II; D-I
(3) A-V; B-II; C-IV; D-I (4) A-II; B-III; C-I; D-IV
B5E
TES.T 224 [R] (31) :
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97.

98.

100.

TES.T 224 R (32)

III Pharmacy Cﬂ“ﬂé‘l
IV. Indian Council of. Medlml

Choose the correct answer .

(1) Il and III [2) Tand W_lm
Consider the following statemﬁmtﬁérﬁm‘-_ﬂ- ndia’s Pharmaceutical Sectar
rtion (A): |
A*I:: B!:;au of Pharma PSUs ¢ {BPPD educates the public about the usage of the Jap
ﬂuﬁhadhi 'geneﬂc medicines.
Reason (R)
et to increase the number of Pradhan Mantri Janaushadh;

Choose the ﬂﬂ:rect answer :
(1) Both (A) and (R) are true and {Rr'j’}m‘t.he correct

Eﬁipianatmn of (A).
(2) (A)is true, bub (R) is false. | & A

(3) Both (A) and (R) are true, but (R) 1?&01; the correct explanation of (A)-

S8

(4) (A)is false, but (R) is true 7 vl g &
Jal Jeevan Mission is a Gﬂvemment nf India programme. Which of the following statements are

correct about Jal Jeevan I‘FﬁEElﬂIl Y
A. ‘Har Ghar Jal’ mltlatwe ‘was lauﬂched in 2019.

B Goa became the first certified I-Iar ﬁ-‘«har Jal State in August 2022.
C. Har Ghar Jal initiative is set mwprawde all rural households with safe drinking water through

taps by 2025. | :_‘- fon!
D. More than 73-7% households are repﬂrt.ed to have tap water supply as on 30.01.2024.

Choose the correct answer : &)
(1) A, B and C only i (2)) A and B only
(3) A, C and D only |{7€’L A, B and D only

Consider the following statements related to India‘:gNatiﬂnal Science Day :

A. Itis celebrated every year on February 28,

B. It commemorates the day of the announcement of the discovery of the Raman Effect.
C. The official theme for the year 2024 was “Global Science for Global Wellbeing”.

D. The official theme for the year 2024 was “Indigenous Technologies for Viksit Bharat”.
Which of the above statements are correct ?

(1) A, B and D only (2) B, C and D only

(3) A, C and D only | (4) A and C only

P
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97. S'=0S (Covaxin) ©F 8% COVID-19 57 &b )8 THS 236805 90 :

- I 2r8e 2338 (Bharat Biotech)
I 6 A7 6D 0805 | 3 OB
L 27820 TS 8D 08 - e[ 25

IV, 278ed B DOFRS yrer¥ DO (Indian Council of Medical Research (ICMR)) — 278aS [T Hoy
(National Institute of Virology (NTV))

D0 NGO )OTDT A :

2rESTE TAE SoHSNSZ Ho20H0D) & $od a-gmge_arrn Be0RO0B0M :
BHES () : ()

| 2rSSBE argd e FMTT DR AweN (PSUSs)! (BPPI} B0 TRO 2508 TAre DAArHo HBoD Hzerdy
SIS D)0, .,

3%}

S0 (R): b

L2024 Sr8) 538 S DO 2 TAG B0 HOPIRD 10,000 Eo DOTTOR 378eh (D250 ©F sorP
EPROG.

QTS DATETNO0 JOTNTAW

@) (A) SHOCKD (R) BOET A8 S0 (R) &9 (A0 ST DeSes.
(2) (A) Q20, SN (R) A0 S°E0.

(8) (A) HOA (R) BOT D23s3, 5% (R) @A (A)50 OB DedBe 5°¢.
@) (A) Q230 $°¢, SV (R) D23eiw.

2O 238 MWAS 286 1D § STBgEN0. 2S5 25 DA Do, 1808 TS’ DD DOTDID ?
A 2019 & T8 0B 385 |HS D50 L;‘)‘éﬂﬁ)aa’saaﬁoﬂ :
' B. &% 2022 S° [0S o ﬁﬁgﬁé&ﬁéac’;ﬂ‘*ﬁ‘ﬁ 6 26 TR0 oo
C. 2025 SBZ 1D (T H5)53¥er) 038 n)::n’:ﬁs,e:é B0 D& HODES T one T°50° DOVEFTAVEE TS

200 2 &JEvoaaBod. 4
D. 30.01.2024 °¢38 73:7% %0T @O0 Ky OSFESTrHOZ éo%“cm Al (o)A loV) @ﬂﬁi}émﬂﬁﬁ}
DBBOTD.
0 TR0 )OTDS A
(1) A, B 805 C S | 2) A B0 B Sr(eb
" (3) A, C 80 D Sr|ebad ) (4) A, B 80w D Sr|ehadd

2FESTE 27S0DH VD) OSHITVE H020B0DD D3Beaedd HHAOBOA :

1263 DOHEBIBE0 (2250 28 &5 BBS aﬁagﬁ‘a}mém&s.

26 T°0® E)ed e300 (D5 88 &mo

2024 505550 7°¢3 HSOE Hawd (s ;’mﬂ’a i[éoti)n:-a;. §%00 (DO TR0
2024 H0SSIB0 ¢S @©HSOE Hod “E}éﬁbe}“ 2SS 00 BR0DH roSBESen”.
= a*;m;ﬂé‘ DOTOD D ? "L:
(1) A, B 005 D 3|, (2) B, C 80 D Sr(ehsd
(8) A, C 58050 D &Sr(ehsd (4) A DO C e

i 0
ES.T 224 [R] 1) 3

V9 oW
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—

e ,_f_g.‘flﬁﬂda board for studying surface Seology

Moon_ ‘Cln of the expeﬂment payloads is CLASS

camposi‘tmn an& e
Which of the st.a 2

A. CLA&S is Ch .
B. CLASS meas e
B }ERFtechmque
D. CLASS;a’ﬁhlma mgRE
Choote thie:answer.: ISR
(1) BandConly =
(3) AandBonlb‘ wih ..
102. Consider the fullawiﬁg ste
A A WE]l-]ﬂlDWIl ﬂlldlﬂ-ﬂ tatEEa
methn&s 0f samPthEf. B ;_-';:'{

110 ’ ence (XRp) spectrﬁ
p tl EI_EME &1 Sl Ca,Tl Et{.’-

{2} A and B only
' (4) CandD ﬂnl:?‘

' P.0 Mahalanobis is greatly popular for introducing new I
{'51‘.}1‘ his development of the Saha equation, used to
@) |
3
L % Aonly °
, gy 1} Both A and B
u ' I e Epa‘-ﬁment of Science & Technnlugjr to suppﬂrt Science

| 'j.uv_ Local Innovations for Livelihood

108. Consider ﬂ:(ﬁ‘* ' lo i

D. R .-: L1{‘.-“1{],1“;'1 1n S{:l l'a.!.::;qf J,ﬂ i ~d Research
Which of the above are correct?
1) Cand D (2) A, B andD only
(4) A, BandC only

104.

I11. Polar Satellite Launch Vehid

IV. Augmented Satellite Launc .”.ﬂ,_ ek g -

Choose the correct answer: = = e |
. @EEE o8 n.’ v, 8 f;q W ) 1, 0L ILIV (4) 111111, IV
105. Match the following ,5 pé Jules in :” iy mspecttﬂ their year of passing :

AcﬁRulemIndm b *_ h Year ﬂfpussmg

A. Forest (Conservati M fﬂ,? :-‘-. T _ T. e 62010

B. National Green Tr :. * T II. 2016

C. Wild Life (Protection) praa [II. 2002

.-n'l i
D. Var
. Hazarduus Wastes ﬂ, anagement, Handling and V. 1972
‘{’Pﬁ st Amendmeni: Rules
E. !" & V. 1980
: ) vI. 2020

Chnusethe correct answer:

(1) AL; BIV; C-V: D-IIL. ,

(3} M?:, B-; C-IV; D-II, E-
e h

o
@ A-V; BL CIV; DI, E-VI
ﬁ?’ A-VL; B-V; C-IV; D-II, E-IIT

(34 )

L o B
7ES.T 224 G IR il
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01. OO B, @HBse ATNOIT(WR)  @500H80 Toharde

4 i

»

/
. 003rBS iti
RISARTeIA N (exospheric) SOS$)D BABS0SETRE DDA (A3 HOZ0 e SRS ;a;?f;;h;ﬂ@iigﬁ

S ToL) ST 90D, ®OES X
: S 2.8 DA . ,
DIBEen (statements) HBSED o 7 DI (DB TR (CLASS). 808 255088 76365 Ha%h

A. i‘:a (CLASS) ©DDE DOIGATS-2 &° o> 2.8 KDY S LS X-858 SEHEy SrDHD).
B. OO X880 (IBAR (XRF) SEHE3R), 50 (CLASS) Sencyod,

C. Mg, Al Si, Ca, Ti S50 e Ke G OS5 e XRF @03 &) x
4 _ : : 0Sa% B0 r1o° HB0SS
D. S0 (CLASS) @088 2.8 (58 &A% NTRTATAR RISV e R

NATETA0 DOV -

(1) B AW C Sr(edsh (2) A HOASY B oS5 ebadd
(8) A DHBA D (e (4) €SB0 D S5
&: (508 DO BeHVONoA -

(i
A DR STV RIS, ©OE (Herddeo €O v
: TS S ’
DHS) OB K08 TIIIS, :;} 2 QIR DPMOD HBBOHO Tohlier 2%

B. DDTH 3 THVE Q0SS o508 B2 «
% | ABYON DIBOBER), GATITAOT rr HHES
SDIIO8 RO ToBS FHVE 79 IS, o5 o

D TIDIONSN AA/D QOTDND ? o
(0 bl (2) A Sredhad

2OS T(YODH DO FOEBE DS ariio, TNOH O ROIBE DFTE HOBOBODS & 808
SOSSATON DORSoS0dk

A, DOJOVEO, B & FTON TS IS0 HBAW BSFFET FE DAL B B8 alalale

B. JZT0HOR, SHDOF Jr0SAE DTS S50

C. BB TN |DerP¥

D. [ROFSS DBFTBIOT F(AOH DSOS @DD20805¢50

D TES D DBID 2
(1) C DO D Sr(edsd C (2 A B SO D Sridad
(3) B, C B D Sedsd /~ (4 A BDHBBS® C S|

L
AL TSSO © (300, ¢ Sre§ 2rE0 eSESOMFHS50)65 DO D¥0YS) SBE 0B IS0 -
L SIS (DATE TS0 (SLV-3) L
I 2ErROESD SHHS: DS TS0 (GSEV
II. %30 &I DA 0 (PSLV-XL)

IV. e DOBG G| |DT°M a0 (ASLV)

DB DSTTTS0 DOTHTDS0 :
(1) I, II, IV, II (2) I,IV, I, II (3) I,I,II, IV (4) I,1II, IIL, IV
806 BEIre/QADETOD T3 BTTA0DS D055 IBE0 236 HBD YD
2r0es B5065 %) 1380/ DAVD0 SOTFB0DS 0S8 )Fo
A 3 (D0056) YO I. 2010
B. 27e30% A& (e320536 &0 II. 2016
C. 598 [areane (25185¢8) wé&)o ' III. 2002
D. |HSFOEES SsTen (DB, EST0350 DO IV. 1972
HOLCDED 7¢3 DB EFOIB0) D0SE DI TETen
E. 2555 326§ &0 ] V. 1980
m VL. 2020
A0 RATPEI0 o)OTNE D )
(1) A-J; B-IV; C-V; D-III, E-II (2) A-V; B-I; C-IV; D-III, E-VI
[(3) A-V; B-I; C-IV; D-II, E-TIT] (4) A-VI; B-V; C-IV; D-11, E-III
. BSE
£S.T 224 R (35) %%i
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106.

107,

108.

109.

110.

111.

112.

|
| : __E:;.launched to promote Artificial Intelligence in Ingdi, ang

beyond ? | N A (2) Al4Bharat
Arrange the names o"’fl‘-the following Nobel Liaureates in the chronological order of their receiving the
P‘I’iEES * - i . : ; \ -. I'_I I LB- S]_]brah Chandrasekhal-
: 'ghnﬂn AU T mﬂﬂrﬂn
g' Eﬁ;ﬁ ofRenil ot D. Har Gobind Khorana
Choose the correct order: i @) A C.D (4) C,B,A,D
@ A,B,D,G : @ CDIBZIEEIS & " il
Consider the following statements regat
on the lunar surface : '

A Its name was Chandrayaan-2. ___
B. It was launched from the Satis

C. A lunar touchdown occurred oni23™ Aug
Which of the above statements is/aréc rrect? o

(1) B and C only @ A andC only

(3) C only (4) A and B only

Raman Research Institute is loca at X , India and was founded by Y in 1948. X and Y are

respectively : | U g
(1) Bengaluru, Vikram Sarabhai (2) Bengaluru, C.V. Raman
(3) Trivandrum, Vikram Sarabhai | (4) Trivandrum, C.V. Raman
Match the following diseases with the&,uarner type :

Disease Carrier type
A. Cholera I. Air-borne
B. Filaria II. Food-borne =

%

C. Tuberculosis I1I. Vector-borne

.-I.-\.-‘

IV. Water-borne®
Choose the correct answer : il
(1) A-IV; B-III; C-I Ul IV; B-I; C-III
(3) A-II; B-IV; C-III | (? A-II; B-IV; C-1

Identify the correct statement(s) among the following :
A. The Indian Ministry of External Affairs described the first Pokhran test as a peaceful nuclear

B$OO
>

explosion.
B. This nuclear test was code-named ‘Smiling Buddha’.

Choose the correct answer :
(1) B only (2) A only

(3) Neither A nor B (4) Both A and B
Match the following vitamin deficiencies with their associated health problems :

Vitamin deficiency Health problem

A. Vitamin A I. Beriberi ]
B. Vitamin Bl II. Night blindness ()
C. VitaminD ITI. Scurvy N
D. Vitamin C IV. Rickets
Choose the correct answer : vo
(1) A-I; BIIL; C-II; DIV & AL B-I; C-HII; DIV
(3) A-III; B-II; C-I; D-IV (4) A-II; B-I; C-IV; D-III
@E5E
[R] (36) '@%5
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106. 2r0STI0S HBOD IenDO Ey&d % o

| 2 D 0 YR (868 38T oS D8 2°00D050AS Bo(es SBgES0 29tk
(1) INDIAai (2) Al4Bhar

. at
~ (3) VIKASai (4) BHIMai
107, (8080 S'BS faresed DD a7 2:TV0e8en R $EBODS SOESrSHR SO @80 :

A S0KErHS oS B. " (@658 Solsins
C. . 0°%S D. 56 Ao Fowr
DTS BEIrQY DOTHTRE (]

(1) A,B,D,C (2) C,D,B,A ()& C, D, B
ARANSOBOM grded o erodd WO GHOBerd) BEFEDE Do
OO0 !

Al TR DD BOBNTS-2.
B. 14 278, 2023 8208 DR 98 Sr¥ 301850 08 @b (2835 A0S G068,

C. 23 &0, 2023 F2 ROAAT SO0 (HDF7E0 FODO(EO 6:00 KOLIE BYsrD errars S50|¢0A
STelal

(4) C,B,A,D
200NN (808 T

LR T5oNS' QAR SO ?
(1) B O C Sr(evad (2) A BN C Sr(evsh
- (3) CASD (4) A OO B Sr(edad
109, 2rSSSN X S @) TS DI S0P 1948 & Y " D0TE. X D005 Y e SEHT
1) BoKrd, JFD Joercd (2) L BB, 0.9. 0% |
L B) 1E83[01%0, IS oD (4)[_[E8330(80; .2. T°0S
10. SO0 T5EON 88 70D BEINS DO YoR : &3
o) Do 580 ]
A Soo . -0 o3
B. 280a%r . s3%o-orsor ¥
C. Schad [II. DSATO-NTL0N &3 50"
IV. Jd8-orso
DN ePETRW0 OTDS DM :
(1) A-IV; B-III; C-I (2) A-IV; B-I; C-III
(3) A-II; B-IV; C-III (4) A-II; B-IV; C-I

[11. 32808 T 5ar50S” DB DITETS0 H80S0E :
A TS FES (DY) 28 (DT0S SrSohd DendIT 28 AT SiToe o8& T

PuleletatlelaY

B. & 0rsSo0Hb HOE MYy rosaE resim "@gm&pﬁ 200"

DDA aTETTI0 «)OTNS AN : b
(1) B Sr|e5sH 2) LA S5(e55
(3) A B B Bodr 5°¢H (4) FA OO B 0OGF
808 DEVS ST TS ©DD0HOBDENS BEHLRNOIOS 3¢ TaLOA :

DEIDS 50 &6 DaDds s

A DD o) I. 236238

B. derdns D1 II. BOEes

C. DODS G . 53838

D. DEWS N IV. B88e&d) (5088 5°¢y) I°80)

OB RAFE 0 OTDE R

(1) A-I; B-III; C-II; D-IV (2) A-II; B-I: C-III; D-IV
(8) AL BIL; C-I; DAV (4) AL BI; C-IV; D-INI

ES.T 224 [R] (37) :

o
L |


8923917
Rectangle

8923917
Rectangle

8923917
Rectangle

8923917
Rectangle

8923917
Rectangle


" .__
I“H .; '-'.

'|

us Fast B L
' "®eder Reactor was conducted on 4%h March " .
| _ 209,

N W, iR LD :
-chrel ,1 i
113. 'I!ha . | U ?i Kaiga, Karnataka
il Nargra, Uttar Pradesh
r l E and Not E‘ﬂ:ﬂlﬂﬂl‘l’ely a plﬂ.ﬂ.t hﬂrmﬂne ?
(3) Cytokinin (4) Gibberellin

(2) Jute fiber production
(4) Poultry and meat production

o "-‘5'.' ‘the leading energy stnrage system type for use in electric f |

(2) Lead-acid battenes i
(4) Nickel-metal hydride battenes

q r (ISFR) 2021, the percent-age of the country’s geographic

(3) 256% (@ 231%

8 -
ms on each side of : : . The first two are related to each other by

mﬁﬁ) 6,7, 1D:: Lﬂ
@ @7,19,20) @

lllll

{TH |1i'l'

119. %e'f&nmngm T

3) (17, 23, 29) (4) (17,19, 23)

1S nu ,___:é.gamﬁ dice, whose faces are numbered from 1 through 6.

(3)

{ o]
|onfeo|m |
(=)

Ghansa the correct : answe;- | f

(1) Only Il is true. 1
(3)0nly T and 1l are: tr'u;j..

(2) Only L1is true.
(4) AT, II and III are true.

r

II- ‘ F!“'Il" t-LlI

| E5E
4 b,
gES T 24 [R5 R (38) E'%;

C |
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118. 4 Or0), 2024 &2, arded Bio Bk S508Ts S
i , 332 1D&b 805r§EE
: (1) g'::';ﬁ&; eha DT T (2) S 5'5‘3, 3%

L ®) UG, HFoR 4) SBo, &8 | HT5
114. (S00 78S’ D) |H85E 58S $05°08 H020B0DSA B0 (DBs5om ngye TS 5 7

(1) 2>II]S (2) &8)S (8) 8IS (4) HZBY0S
115, 505 VDS K0GOS : ¢
L (@) D sy (12) 28008 ars)d
(3) &3 Nozeo as)d Hﬁ 1 (Poultry) 5808 S70%50 drés )&

116. (808 &3S’ O 35S #8 dog VIS (energy storage system), (HVEDE o HTLT Jo(8E TrTeds
DT DSBS ? H

1) OBH0-warS arserd (2) BE-OrDE 2rserd
(8) ®EFrSIrod) 4) JSO-DLrS 7 BE argead

117. 208 T¥ ©8d on SO (India State of Forest Report, (ISFR)) 2021 95760, T¥0 @), FHDE
AVFS S’ )N AT IGO0 OSNN) FH0 e

(1) 217% (2) 19-1% (3) 25:6% (4) 231%

118. &I :: § ADTHO Tod Hen ISHFTOW. IVEE Boh Horen 28 B ICHITIY e
258 HOTLITAS H020ER), 6 &) on. BT ETHISS &) S0y, 355 HS0 & ©F JoHITI)
30T 45 HSO

(]
(2,8,5):(5,7,11)::(11,13,17):? {:i}
@) 17,19, 21) 2 @7, 21,23) A(3) (17,23,29) 4) (17,19, 23)

_ 1 DOA 6 ®OSOS JATFDOT SHIFe e 2,3 :ﬁhzﬁé%»égr D) 200eeN (808 265 52BS.

L S OSN DDISHED, 1200 E3S° BT EDDN0A 7

i [2]3] 5 ; :
) 5 of e (3) 1 4) 3
5 6 l2]3]6 5
6 | | @ 5 4|62
®
20, (806 TS (HIBIIW (€0) /I ds0? B
_ 2024 50556535065 53 T TN o). E
1. 2027 505653806 53 3Qa0ren o). ()
LI 2028 5056350 3DTE0S S0H0s.
DB DATTT9500 )0 Eeed :
h 11 2533 D20. - (2) T7e53 D230,
(3) 155005 I Sr(e$3 D2s0. (@) L1100 I e 9) Jessh.
. o EEE
T 224 R (39) :
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in English () o, students passed in Hindi (H), 25 studey,

" Lhind » 8 students pﬂﬂﬂed in H and T and 6 Et\ld& Shty
f student= " Passeq in each subject alone was equal, ang Was |
2ts WI ’--.:‘f--‘?i 1€ €Xams iy g]] the three subjects. 0

Mﬂtch ..'__f. - s List B
Lis FBdH butnetinE L 9

AL al 'l-'[hi‘lll the three subjects el 12

B. ginal] the three sypigets III. 16

Wosubjects only IV. 34

(2) AV, BII: C-III; DI
(4) AL B-III; CIV D-v

Lol AIm unt of imports and amount uf expﬂrl:ﬁ of a company over

s 1

i

sy (2) 525
(3) 420 .':' {(4) 450
123. t‘i‘b’cjﬁth has 2?@ nen "_ i tn various j;rnfessmns whose details are shown in the following
i o
_.Ms&wﬁ' ! 2
— r'i
Doctors
Engineers
Lawyers
Professors

What is the dlﬂﬁrenca | -enﬁmb or of male and female members ?

(1) 888 i -;'J'm " (3) 884 (4) 882
. T okiC.
TES.T 224 ' R h ; (40) E?% -'
Tl
{F) il
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121. -'f:u_ﬁé D0LS, 27 Hod e 2o B) & adPen woirs, 20 $06 dGHen rod @) &
L GOSN, 26 OO ey Bentd (T) ° deadderairst, 10 508 A sen E SHOASH H exes” 8

| 908 H 0 T o H8AM 6 08 E HOaHH T o aahercsr. 58 28, 39" e 335%

§- ﬁ&éﬁ) ﬁ@’@@éa‘ﬁ OB, (DS DPPH SATSOM 15 M G0H, @) () B H85en oo

- 0SB0 AT §He Hows 70.

1808 e A D 2rDe B & @3¢50 |

ardar A ard)es B
A T 805 H o6 aredhss, E & aseden 520 e gthes WO
B. S STPO G oS @and TR Doy . 12
C. SIrd) PP DB Ao SoRs. | . 16
D. Boch OPPS’ Sr(¢83hH &Y BS dershe Howg IV. 34
| F i Vg
;i-a’}g‘l’n QAR DOTHTOR ! o
(1) A-II; B-III; C-IV: D-V @i(2) A-IV; B-II; C-III; D-I
(3) A-IV; B-I; C-V; D-II (4) A-I; B-III; C-IV; D-V

122. 800 JOINS, DoISHBIve 20002006 SOS, 28 oD WEy OMNS Jens SO
ADDBILNIL AR YHED RS FDAES.

BHNS, dHrehe DB

16
14 14
e
210 . -
i . {‘r l-j
06 =
&P

[ Il I i [ |
2000 2001 2002 2003 2004 2005 <
D0eS YODVED

D055 2002 € BB Densd T 250 §EY, SHOAM HOSSIBS0E 2002 HOOLH 2003 S FneSain
DS DeneS T 500 EEY eons, 2003 S° BHHE e (€ ?egé%

(1) 500 (2) 525
(3) 420 | (4) 450
123, DDS) S9HOH ToAS 2780 HOO HHOD EORS 2.8 TSV S dSoren 1§08 HRES
230D
T e D205 DO JEDVEV, DT D3 )3
B 750 | @ 3:2

W ) 4:
|@ozd% 990 ‘;& 1

Joien 2170 I 5:4
| = 770 o 4:3
DN SB05 ST HEDL DoP§E> 250 Hoed ?
(1) 888 (2) 880 (3) 884 4) 882
224 [R] (41) o
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ent
ve Eﬁtablea in a.!shnp

| '-||

LR,

L. R ) JI.“L..‘“ ' o hz‘p-"-l
----- _1.I.1 . iE 'Equal t,[]. t‘hat nf Eﬂbbﬂgef .
getables in the shop Ut ol
geount for half of the tota] gales, i
sorrect 7 W
"~ (@ ABandConly
" (9| A CandDonly

umbers in t! E th@ column are related to the respective numbers in the
1 a defir w"i:u ]EtEﬁ- Find the suitable number in place of 2.

(3) 3016 (4) 2918

‘1- number of students who opted for only Physies is twice the
hemistry. The number of students who opted only for Chemistry
pted for both Physics and Chemistry. Then the number of
man}r times the number of students who opted for both

(3) 3 -'(4)' 6

lifferent digits from 0 to 9.

tlea is/are correct ?
1. 2A-3B<4C

(2) Only I'is correct.
(4) Both I and II are correct.

I'Ill.' | ey
TES.T 224 @ '- (42) l%%;
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o »

@) A DB D SMSH

28 QUSR0S DS SrdmaHes BRSO HODOBODS DSorer

| QAN (Drumsticks)
1808 DS HOKBOSOA :

Eod 2 (Pie) Do tPDDF A -

()
()
"
[ ]

3

0B DOA AN @5 BeSo 5752328 @058 B0,
52328 §) QE S DS & (Desen TNy .
- . B ATHOS ) 03ES) ST 90805 et e,

SRAG DA DS IS0 @SyseS o aerd $Of daryaw,
B FEDIOS’ AD D/ ? |
(1) € DB D Sredad

(2) A, B DO C &Sr(edad

(4) A, COa D Sr(edadh

2209 784 15
3249 1444 19
4489 ? 13
1) 1140 (2) 3254

135, S00 JYSS, S8 Jendy SEISD HomIed $8300066 I0cE $00%0 ol Jensy SEHED
L 0RO 28 DS D00 EOR Gy o, 2 @%ﬁ?}é‘ HOTH D0 E508%08.
)

L]
&)
¥y

(3) 3016 (4) 2918

126. 2.3 STTOSW 2.8 Qi SAYS oTHE D) SIS AOHES) 8 HoRs SIADHS (TR DOTHFS)

7

(2) 5

127. (808 HofoTd) H83O00b :
|

‘I:Bm‘stg)a NODIH B0, SPADITLR0 SIS JOTHEFN) e How, 2TRE HOGD S CHS
i T 0D BoE3N DOTHEN) AEF§e HoFL BEI0Y). 25TRE SDOAN EFADS FFe BOE JOTHES)
DT EDO DOV 2TRE TR0 DOTNES) DD HOWE D) BED ?

3 ne “BiO GO 19
+% C" A B B
B .2 9 C

"1 A+B-C<7

s
ol Pt N I
g

-

| (1) I S5 SBIB.
() 159805 11 & DB HBIE 57.

[’]

@) 3 @) 6
@)
&
[]
&

&F)

ﬁ,fB SHBAI C 0 0 HOA 9 OB T DDS) BOSOD BENYT OW.
| (808 8D Both @33rSSod’ DA/ND $33D?

II. 2A-3B<4C

(2) AT OB,

(43 )

(4) TS0 IT en BOAT SBSD.
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| | -:.- o, EJE*W fﬂl‘ 5.'1:-,: . ven lﬂ thE fﬂllDWiﬂg graph Stud

128. Production and Sﬂlﬂ ﬂfa ﬂﬂl't?::'ﬂ _' *“j * ' yearE ¥ the
graph carefully and d answer the QUE=

Production and Sﬂlﬁ °f C_T_m

1800

J l_ 11" { '|.
'verages of production and sales

e (8) 380
129. The angle between both the minutes ar lﬂ. hours hands of a clock at 7:42 AM is x° and at 5:18 PM is
y°. Then the sum of x° and y° is : .' i
(1) 30° _ ) 72> 1

over the given six-year period ?
(4) 400

(4) 43°

(3) 54°

130. Isy>x?

Statements :

I. x#0,xy>xgq=>y<q
Choose the right option among the v:ﬂag

(1) Only II is sufficient to answerlthe quﬁmn

(2) Only I is sufficient to answer the question.

(8) Neither I nor II is sufficient m;weﬂhe question.

(4) Both I and II together are suﬂ’iﬁé:,;t to answer the question.
In the following letter series, six blank spaces are given. By filling these blanks with appropriate
letters, the series becomes a series with definite pattern. Choose the right option that makes the

series with a definite pattern.
XY _ N2 _Z_ VXY LY _AZ_Y

II. y:ﬂ,-'!- <— =l<x

131.

@D zxxzzx|l 2 X552 3) z,x¥,Y,2%X (4) x,v,2,%,V, z
132. Consider the following statements and conclusions. Identify the right conclusion(s). which follow(s)
the given statements, :
Statements : Cj
I. Some employees are managers. (..}' II. All managers are engineering graduates.

Conclusions :
P. All employees are engineering graduﬁas

Q. All engineering graduates are managﬁs
R. Some employees are engineering graduates.
Choose the most suitable option :

(1) Only R and P
(3) Only P

(2) OnlyR
(4) Only P and Q

[R] (44 ) g%i?
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128. 85 D0IS o0 2.8 2708 T Ges D
O e e 6O
D S0, Bard)|@R) ST S 2D S 5%

S0 e )83 SHBON e sren

BINSTOR HOVOHODS DST'OS (806 Bard
150 220503, : s

2018 2019 2020 2021 2022 2023
”ﬂn&ﬁﬁaﬁﬂ
= R — 29632570
S DOJSITO 50 SISBS" 28 @b 1B HOOK ©F HifENe 2BeS0 2
(1) 420 (2) 450 (3) 380

(4) 400

E:§ SAAS0 & 7:42 TP 2PN R HOLIS OO AARTEN e 5¢55 80 x° HBTL A 5:18
VAT & TOD ST 3255 §'60 y°. x° HOKW y° © IS0 :

129.

(1) 30° (2) 72° O (3) b54° (4) 43°
130. y>x ®yhomr? ®
[20e9LSATED &
I. x20,xy>xq=y<q PPy II. F#ﬂ,lﬁiﬂf{fﬂ
=5 }r J

1808 2DITOS’ HBS TR de01F0A -

(1) [DFYI0 23720 QI ST [ S5 DO 0D,

(2) (0350 Zarad RIS I 577 e5a30 O AR08,

3) 150 Bo° 11 5 D (DB OIFETS0 25 59,

(4) 10305 IT e EER S(edad (293) 50 23537200 Qe §iered).

131. 1208 38 3SS e 279 Deren AL DFTON. I DB ©ETOS OO TFTT Sy (3 2.8
DD )STVS AONATR) FEI0T DBOM GOLNOH. & |33 DD YSTN DODT'R) T E30TER™ DD DD YED
Do) Fod. %

XYL NZrZ i YRYrL Y 2X2:2¥ b
1) z,x,x2z,2,x | @ 3%%%2 ¢ 6 2X%5¥Y2%X (4) x,¥,%X,Y, 2

182, (B06 (DI HBOK ST E’JﬁﬁE%bG&. BSBTOD ©HIB0T KBS o) /B0 d)
Enerodk: '

[20a9LIT?CD

L S085 &EHeD 2. I SHasdoddr 2023800 HLS.

SOTED :
| P. GE5He008r 20230000 HPB(Coe.
Q. 202DB0R HEBLVOBET DTED.
R. €05 G sien 2020000 D&Ecoe.
965 506b @ DETOS HDSR), JOHEOS :
(1) RSO0 P en Sr(edad (2) R Sr(edad
(8) P &53(eb3d (4) P OO Q & Sredd

>

 TES.T 224 [R] (46;) O}
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13’3‘

134.

]. 35#

136.

137.

138.

TES.T 224

(R d a ¢ d R are facing the
gitting around a cirej,p aple. P, Q an g the centre
and U are St ther three are faci;,, t1)o centre: Second to the left of P is t},

Six persons P, Q, R, S, Tan A
of thp:tahle wheraﬁﬁﬁ,hé backs th.htzni; of U and opposite to P. If T and S are immediate neighboyrg
one opposite to U, Tissecond to L3805 E. -
of Q, then who is sitﬁ#ﬁ'ﬂf’spuﬂt& bR B (3) P 4) Q
(1) T EE ..
A notation representing the blood ﬁl_ﬂﬁﬁwpg'yetWEEn two individuals A and B is given below -
A + B means A is the mother of B. R
A — B means A is the brother of B. :T' )
A @ B means A is the father of B. Y
A & B means A is the sister of Bng 1 ]
A is the daughterof b. = == /) .
F urﬁth%er i::;imzur indiﬁdua?s P, Q, Rana S, using the notation given above, which one of the
following shows that P is the mnthg}‘j&_iﬂflﬂw of S ? |
(1) P&Q+R@S (2 P-Q+R&S 3) P+Q-R@S (@ P+Q@R%S
Question : Is that year a leap year % &
I. 15 January and 31%" December o ___f- year are not the same days of the week.
II. The year has 53 Sundays. ‘_G‘a;-_i!{". Wy »
Choose the right option among the féllomng :
(1) II alone is sufficient to answer the question.
(2) I alone is sufficient to answer the question.
(3) Both I and II put together do not suffice to answer the question.
(4) I and II together are sufficient to answer the gquestion
Let A = 20% of x + 80% of y o &
and B = 70% of x + 30% of y b1 m
where x is greater than y. i oo
If k% of (x —y) is (B — A), then what is the value of k ?
(1) 30 (2) 20 il (3) 50 (4) 40
Consider the following statements:
I. Crime against women is lower in a state with higher literacy rate.
II. Higher literacy rate leads to better economy.
Read the statements carefully and choose the most suitable option among the following :
(1) II is the cause and I is its effect. |
(2) 1is the cause and I1is its effect.
(3) Both I and II are independent effects of the same cause.
(4) Both I and II are effects of independent causes..
A statement is given below which is to be taken aﬁ;;;rue, followed by two assumptions. Decide which
of the given assumption(s) implicitly follow(s) ﬁ'mﬂ“qhe statement.
Statement : &)
The pass percentage of the students of a college sifificantly increased.
Assumplions :

I. Most of the students go for higher studies.

II. Students studied more efficiently than before.

Choose the correct option :

(1) Only 1I isamplicit (2) Only I is implicit

(3) Neither I nor 1T is implicit (4) Both I and IT are implicit

[R] (46) E%?
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&
1) T 2) S (3 P mif}lﬁqﬁm |
134. 2R S5Fen A HOAW B © &S D0vE B,é E .

0 , SNLBOD HHOD 1808 D :

A + B @0 B 3308y SO A. % i it

A - B 0% B &BwE) SO A.

A @B ©0% B By Sold A.

A & B @0%T) B 3Bwn¥) R0 A.

A % B ©0%) B 330E) 5770 A.

2085 S LA HDOD SETBOM BT RS JIBS SeNHS SEBS P, Q, R 90050 S ) & |
808 S DO S BwE) S P & trYod ? SVES P, @, O VORVOKOD,

(1) P&Q+R@S (2) P-Q+R&S 3) P+Q-R@S 4 P+Q@R%S

185. (559) : & HOSSIBE0 DY DO B ?
I @ H03$3508° 23558 1 HOTM BR02E),31 T FE0S'D &8 T2 5%,
I & 50383506 53 sOHITT N §&ad. {;;’1
1808 &3S’ DB JODED JOTNTOR : i;;:
(1) II Soredad (D930 3320 2 §H5ee. ]
(2) I3 (299) 50 25720 R 5. 5
(3) I 00050 IT e B EODITE® 5350 SIFETS a3 §5s).

(4) 10805 I e BO&Y SO (DFY 0 QTG0 B SHD).

136. A =x O30F) 20% + y G305y, 80%
OGS B = x AB0EY, 70% + y 308, 30%
QLB x, y OB DBV T GOLNOD.
2 £, (x— y) 0L, k% @3S (B — A) @00S, k GIE;, e 0 7

(1) 30 (2) 20 |{35|| 50 (4) 40

137. 1208 DIVTOD HONEIOTI0G |

L eS0T ©OE0m Gd) a8 TR0 HirFe ) Toren $50SM ST,
I 88 ©Xomies SOAS GO S50 2B,
[DSVTOD ZHST DO, @cﬁﬁeﬁé‘ HBS D IS D0)T0s.
1) 11 S50 ST O S0 I 52750 WrrFsood.

'r (2) 1550 ST, PR 050 11 |23 tﬁﬁ';é;ém&.

: _(3) 2.8 85000 Db I 000 11 &0 cd.5e50| eb g:é,fgfa‘m DI oV

(4) Deedoled SEETe Sreorr I B0k IT e DO (DATTR), TI0) & 0.

138, D20 ©HBS) 28 [HSS0 2O T (8¢5 DO Grared 23 T0D. BDIS DSBS’ ) Eay ()
2DE G BT SO0,
(69233050 :
s & Kergrers DT GSGE S0 HRIADOm DOCL.

e 5500 DD GG DB IHTE.
I 205 SnarHe3soR & 0 N eEdED DS NP0 AT,

DB S DOHED 250 S0 :

(1) 11 Sr(ehad D0 & OLDOE (2) I 37(edad 2 G0N0

(3) 10805 11 o &S DB A GOBD 4) 100050 I1 &0 DO A GOETON
s @EE
TES.T 224 R (47) ﬁ%i
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ﬁﬂand ﬂﬂ 1115101'13 Idents ify the right conclusion(s), which follow(g)
189. Consider the follnwmﬁ gtatemﬂll ki i
the given statements. = ‘ | f_" )

iﬂiﬂnzﬁi tod s;me b gpum aﬂl‘b ﬂ““ What they werg orice; India had significant victories i
1 S S today,

Football and ankeﬁf*ﬁﬂﬂ‘er _ ? AN
i "1‘ i

Conclusions :
I : Presently, we have no good 11133’91'3 of Fuﬂtbal] and Hockey in our country.

II. Indialost many Football and Hockey matchegfin recent years:
Choose the correct option: i ; ‘* ;' %
(1) Only IL. | Wt tl(,?) Only 1

(8) Neither I nor II 0 @ BothIanddl

".":EE! towards the playground which is 200 meters away in the

140. Rahul starts walking from his hor
After wallﬂng 60 m, he turns left and walks 20 m. He then turns

right and walks 40 m. Again he t ;.._ right and walks 40 m. After that, he turns left and walks 20 m
and finally turns left and walks 90'm and reaches the point P. Then, what is the ratio between the

distance yet to be travelled along l_.,.’-g- straight road to reach the p]a_f,rground and the total distance

walked during travelling in reachingthe point P ?
(1) 2¢5 (2) 125 AR ®) 1422 4) 3:5
141. Find the next numberin the follo & series : i 1
1, 3, 15, 45, 101, 191, “g - i
(1) 821 (2)/ 320 0 B (@) 323 (4) 322
."--c;!‘x-. 3 Y

In the following, the 24 term is Wntten using theé 15¢ term with a definite rule. If the 4™ term is to
be written following the same rule as;’a"'__ ]lEd to the 371 term, then the term in place of " is :

SELECT : TIUUBD : FORLMT i
(1) GSACZE (2) GSACXD | (3) GSABZD (4) GSACZD

143. Arrange the following in chronological order according to their year of establishment :

A. Aligarh Scientific Society ' B. Benares Debating Club
C. Bihar Scientific Society | D. Society for Translating European Sciences

E. Indian Association for the Cultivation of Science

142,

Choose the correct order ; <.
M)B,C,D, AE W (28D E/A B, C (3 D,B,A,C,E (4) B,E,A,D,C
&
144. Match the following : - r
A. Bhavabhuti L. Devlchandl"q,}{upt&
B. Harshavardhana II. Malatlmadﬁava
C. Mahendra-Vikramavarman III, Mattavilasa
D. Visakhadatta | IV. Nagananda
Choose the correct answer ;
(1) A-IL B-1V; C-IIL; D-I (2) A-III; B-IV; C-II; D-I
(3) A-1IL; B-IL C-IV;iD-I (4) A-II; B-I; C-III; D-IV

25

[R] (48)
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139.

140,

141.

142,

143.

144.

508 DSDTR) HOAD SOOI HBEBoSOA.

558908 - DSBTR), ©NH60E QB S éU‘EFﬁ‘mM@;G‘-@@@l
(2De3t5a50 -

S, §J) 23580H §% J6DB 2&5
JEer By HES 2rS. &
S ADPOS DBAGTOS TEODOB. D O 5% ol $8d fisod 88 o)

0Te -

L O3B0 15:0e80, HE oS, 58 8 ereS® S50 ALY S,
L 68 §J) 50883070 HE 278, 8 $5S 2788 mrer 52000 SHET08,
BN DODED D) S0 :

(1) II S (1 |@ Isresd
(3) IO I e ¢5° DD 5°) () @) 15005 IT e Boks

0
S Q0¢38 3th) OBVYS 200 . S80S & B@DES08 TS 5B (550D, 60 2. SAmK
BSD IEHBHEK BB 20 V. SATD. OSE ©LHch 08 LTS BON 40 . SATL. HDy s
SOASYE BBA 40 N. SATD. 2 IBDHSIE BOA 20 &, SATE HEFE IGITIE 68 58 20 5,

SAD P 6T DotHs)d DT @S STy SHESTIE H DAOS SroDE SH605H
SN P Do SEH SADS S0 BrorRs fed NS Joeh ?

(1) 2:6 (2) 1:56 (3) 1:2 (4) 3:5

Sod B3 é&ﬁaa@q%amgm E08).08 :
1, 3, 15, 45, lﬂlﬁﬂl,

\‘31-11 .

1) 321 Pas,’ () 320 (3) 823 (4) 322
SN

1508 T°3S” JNDES D8 2.8 DDIS TS DOVAFR) &NTrA0D BOE HEH0 T OHDAE0H. ©F AADST)
SE DTRVE BHVTAR STIB TS HEDIS| 2 S0 THOVS HEO

SELECT : TTUUBD : : FORMAT : ? @
(1) GSACZE (2) GSACXD f% (3) GSABZD (4) GSACZD
&: 808 739 F"DODS SOSSIB0 (HSB0 FOESTRHIEOM ©NBI08 :
A 3O08 oS Fes B. Bordd AzZe3oh 8§25
C. DIB 03NS Fes D. &3 N6 (E7S) SeE30h AnTDADS PRIV
E. R0ACHS FD0DAM 08 & SQBAS 682 DoY)
DTS (557, DOTHETSW :
(1) B,C,D A E (2) D,E,A,B,C (3 D,B,ACE [43 B,E, A D, C
& (800 T3 BSHEHDTHW ; | '
AN 2 I BIDoB D
B. 858 I SPOFES
C. S50l DESSEIS L SOHDE
D. 7 e g V. & M?i%
DB DSFETS0 DTN : ;}
(1) AL BAV; CAIL D-I () A-JIL; B-IV; CI; DI
() AdIL; BIG CIV; DI () AL B CIIL; DIV

Op0]
TES.T 224 [R] g =
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145#

146.

147.

148.

149.

150.

Which studio praduaed the-ﬁ]'ﬂt Tﬂlugu tﬂ.l]ﬂ e ﬁll?z‘;ﬂhaktﬂ Pral ] E.da” ?
te RE"lnjit Movietone
e
(1) Bharat Movieton i w,

(3) Madras Natmnal Theatre
Rﬂ\'i VEI‘I‘!]& 9

B.  Nair Woman
D. Lady Giving Alms at the Temple

Which among these pamtmg$ are b? Ra]ﬂ

A. Lady Lost in Thought
C. Bride and Two Companions

The correct answer is :
(1) A,Band Conly |
(3) A, C and D only

Which of the following statements abOllt Raja Rﬁmmﬂhﬂn Roy is/are aorrEEt 2
A. He favoured polygamy.

(2) B, C and D only
(ji} A, B and D only

B. He established the Vedanta ( Eﬂe n 1325}—1

Choose the correct answer :

(1) B only (2} A only

(3) Neither A nor B 5 r (4) Both Aand B

Consider the following statements:
A. Mahatma Gandhi wrote a book, ‘Indian Opinion’, to apprise the British Government of the

widespread discontent among Indians.
B. ‘Hind Swaraj’, written by Mahatma Gandhi in Gujarati in 1909 was proscribed by the

Government of Bombay and then in 1910 it was published in English in London.
Which of the above statements is/are correct 2 ()

(1) B only ol "_? ) Aonly
(3) Neither A nor B ;'; ~{4) Both A and B
e

Which of the following statements abaut Indian National Army (I.N.A.) are correct ?
A. LN.A. had fighting brigades named after Gandhi, Subhas and Rani Jhansi.

B. The slogans of LN.A. were ‘Jai Hind’ and ‘Delhi Door Hai’ (Delhi is far).

C. Rashbehari Bose handed over the leadership to Subhas Chandra Bose.

D. Capt. Mohan Singh was the commander of the Indian National Army.

Choose the correct answer :

(1) A, C and D only A2) A andB only
(3) A,B,CandD 4) B,Cand D only

Consider the following statements about raligiaﬁaanditiana under Kakatiyas :

A. Shaivism flourished. o
B. Jain Temples were destroyed. &
C. No Vaishnavacharya was mentioned in any of the inscriptions of the Kakatiya rulers,

D. There was no rivalry between Shaivism and Vaishnavism in general.
Which of the above statements are correct ?
(1) A, B and C only

(3) B and D only

(2) A and B only
(4) A,B,CandD

EXE
é &




145.

146.

1 4?‘

148.

149.

-

TﬁﬁaT 224 [R] | (61) ;

256 B €6 DAL 25 DS D D AT V80008 7

1) ardéjﬁmﬁhéﬁ‘s (2) B08S Srdests
(3) DD 2SH S 4) HAS BT

S (S0B D& Bpdwe S’ orar 8 $8;8 tﬁ@m@gﬁég el
A, SSVIOS SnAB S so2re .

C.  SE0a) DB VAL ST eIBren ¥ D.
3B OET 0 ¢ ]

(1) A, B DB C S % (@ B,C 5005 D e

(3) A, C Bk D Sr(edad 4y A, B 8050 D Sriessdh

O8O0 ey TS QODO0R0W & (808 (HBISIOES® DB/ HBSB/SBSD 2
A, 8ALN DIVTOLEIV) ODRTOOTT . i
B. @00 1825 & J3r0ed 87T 00T,

{;} B. 0H5 Sdres
BIO0H0 36 HE NS 50254

DN NP0 DO A &

(1) B Sredad (2) A &Sr|edad

(3) A OAN B BOAr 5 (4) A DHBAH B Bodchr
OB (D8I SION HOKEFoS08 :

J
A, D8R DRSO &) DS @E’Jc}é,%p SDAH FOWEEH DB Mod ‘“ROBOHS 2.5J0HS:
BT JVFID SDOTD. e 4

B. 1909 S, e mod Haod o SIS ‘&8 H0°E" & 5'0F (Habes 0T %ﬁnéﬁéa&é&:
S AV 1910 S’ ©0AS &' oo |HHBETE.
&

D TV DA/ DDID ?
(1) B Sredsd (2) A Sr|edad
(3) A DOON B BOr 5569 (4) A Oci» B Boddr

2SS 2 ROD PISO (ROAADS FASS ©87) & H0OBOD % (806 (DAY SIS DD DTSN ?

A 208 ZRAD VIOS STE) BFSVOR oS, 2R OO T°3 K1 ) DA WSO 20008,
B. 2386 20 RIS QETen ‘B rod’ SHooky ‘A8 &8 3 (A ArSor ¢od)

C. TR B3 5D, 2rR S0’ 30 TPoNES £330 e9D)AOTD.

D. 2756 27800 VHL0 TR® VTS DOA DASETH.

QDN IR0 DO { ]
(1) A, C 830 D S () @) ADBAN B (e
(3) A, B,CO8awD £ (4) B, CHBAW D Sredad

SESB OO FPOOTES DBSHES DOV HOGR & (§08 (HBFOIOD HBKBOIOA :
A 35080 38D0d. ¢

B. 2 Drairen ¢ S00Zon.

C. SESHO THTOS BRI TELD DD (DFDOSD.

D. OG0T 2Hen OO D) NS DENI0E DTN Sa.

2 TS DD HOBID ? '
(1) A, B 005 C 575D (2) A DB B (&
(3) B &0Ba5» D &5r(ehsd (4) A, B,CHBA D
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